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| Unit 1
/1 Questions Correct
%mistuent of soap is Agswer
cerin B.)JHNO3
. f%uﬁ;b'.ﬁ_mm ORI e m(:‘%#:” D.)Nitrogen A
fHefls (1] B.)HNO3 .o ; .
fl Wem‘*“tage of coconut oil presentin ne:m)izzl::m ks ’
b sl C.J85% D.J70% A
7] b GETLILIEV TSN & 505D CHRGTL erermtemill 2 GToT517
| &523%7 B.)63% | C.)65% D.)70% A
;/3 How much percentage of neem oil present in neem soap?
A% B12% C)13% ah4% A
f*ﬁrﬂinume\) THSEMEN EHEUGLD GeuldL| eTemQenL 2 eTengI?
[ B.12% C)13% D.)14% A
7] Whatis the chemical name of washing powder?
- |a)sodium B.)Pottasium C.)Chlorine D.)HCI A
carbonate
T eoomeudgnermeor GeuglLl CILILIY eTsomen?
INH: B.)elUmL_Lm&lwib C.\&\ef& et D.)HCL A
- |smuGeTL
~5 What is the use of washing powder?
A)Heat of water Ig.)rl?emove the  C.)Perfume D.)Foam B
a
5 [ Goomeuganen a1aMm@ LILeL(BEmSI?
NBT &0 QFll  B)A(LDSMS ﬁajaa g]_z%%ﬁﬂ?é D.)BI60 6U1f B
6| How many oxygen present in sodium carbonate?
A)3 B.)5 c)6 D.)7 A
6 | Gamg LD &HMUGEITLIG.60 616S6me 31, &Er0IGIR6uT 2_6TeNg)?
N3 B.)5 C.)6 D.)7 A
7| Which is the state of sodium carbonate?
A)Solid B.)Liquid C.)Gas D.)Gas-liquid A
7| CamgILD SRHUCSIL 61hS Hienevlliied 2 6Mengl?
_ |ASL B.) &Iy C.)eumiy D.Jeumw|-&l\yeu A
8| How many sodium present in sodium carbonate?
A)Ss B.)2 c)3 D.)4 B
8| ConigIIb HILCAIL 560 155 men GaniqILD 2 aTens|?
A)5 B.)2 C.)3 D.)4 B
91 Whatis the atomic number of sodium?
A4 B)11 c)12 D.)13 B
9| CenqiFENen Sigmmy creant ereoren?
A).14 B)11 C.)12 D.)13 B
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of ——————_  Questions Correct

p)Tripsin

1 hat is the main chemical Substance in Washing powd Ansvier
er

B.)NaoH C)kCl

Ll

L FRRBIBBIGTIO0 & 8TaT (BB T a

B.)NaOH

AT
W —
A')Sodium

s the sl of igher Taty a0 D.)HCI
B.)NaCH3 C.)Cacl2

e
1| <.
A Gamg LILD

D.)Mgcl2 A

2 _LIL&er 2 WNhHE Qasrrq.gu' Y T iz en

B.)NaCH3

7

/_—

C.
— _is called hard soaps )Cacl2 D.)Mgci2 A
=4

pjsodium Saltt — B.)Ammouium Salt ¢.)

Megnisium Salt D.)Calsium Salt A

7 Lo CeTliLsa ey SMPESIL(HEIDE]?
A)cgﬂlqmlb LI:"-I

&

B.)@IbGLomesiwir 2 UILC. A safAwLb D.)&meLSILILD A

13
A.)Calcium

| m—

2.[ b
—1 s called soft Soaps 4 =

B.)Pottasium C.)Sodium D.)Ammonium B

13

2 1

FPDEEILGHDS!
A)BTEAILILD B.)ALIM_Lr&lwih

|56 GILO 6oT6emLDWITsgT GEML&eN eTeTm)

C.CEmg.WILD D.)ibComefild | B

—74| Hard Soap is

A)Undissolved  B.)Slow C.)Fast D.)Undisolved

Soluble in water

17 | Gigeulones GEMLLG N 60 GEMTHME).
ASDTEUSHOLMY  BADFGIOUTE c.)aNenyeurs D.)ifleNempeuns | B

151 Solid Soap is

A)Fast

dissolving in water

B.)Slow C.)More fast D.)No disolved A

75 | Qbsmeniowimest GEmLL|ger B ETETII60 SHENTSHDE).
A)ellsneuns B.)GILDGI6UNS C)eiflallengeuns  D.)EmJeudedency | A

16| write the main source of Hard soap is

A.)Plant fat

B.)Animal fat C.)Acid D.)Base B

16 | Blgem GamuLleL 2_enern (&SI GILIm(mern
ASTaurQsmpuL B.)alleomGQam(QUU C.)Siflculd D&MD B

17| Write the main source of soft soapis

A)Fatty

B.)Castor oil C.)Lemon oil D.)Coconut oil B

AGUL g

QLT DILNET GFMLILIG0 2_emen (IPSHIW QUITHET _________ 6TEUIGIGTIL SLGLD.

B)&MeVL gyuiied  C.JAeowneir Hufd  D)CHMmIGML S4uiled | B

17
BT
——

—_is prepared from cocount oil and palam oil
A)Industrial soap  B.)Toilet soap C.)Detergent D.)Medicated soap A

18

ﬁll.llli“-g&

G CEHMGTIL 6TeuGieuuill! LODHMILD LITEOMLIIEL 6T60u 6TV
Lwesu(B & maI?

JomBHuS A

———

@mﬂﬂ@mﬂrmm B.)&LMeusnm Gamiy g.mgﬂagc&n‘_

D
gL Camuy
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| _—————————_ Questions ey
1 The s02P contain ____ acid Answer
a)Lauric acid B.)JHCI __ C)Hasos NGO p
A-EFTIne SibleoID o Gfigrgy ———
b B B )HCy
pemiS <
iﬁe’cﬁgﬁmal formula for Soapis\C')HZSM D.)NaOH A
C
s cen 60T 6USIWINLIEL eumILyT
e —
p.C17 H35COONS  B)NaOH C.)HCI D.)HNO3 A
Zfﬁ}'{s'pﬁent s0aps are made from
A)Methyl acetate  B.)NaOH C.)HCI D.)HNO3 A
ZT'craTanchml_qurm GETiY SWT&E Ueu(Beug,
A Q&S0 B.)NaOH , A
‘g)’| ALCLL C.)HCI D.)HNO3
ﬁ’sﬁﬁowder is prepared by adding with soap.
Corbonate i — ;
73 [ GEmULSSNeT SWTIGe Gl e LGS0
A)g,cignm,%mwtb B.)NaOH C.HCI D.)NH3 A
SMJLIGEIL
3 can be prepare by the warm soap between two rows.
A)Soap flakes B.)NaOH C.)NH3 D.)HCI A
73 | @eu(h CITe&Eh&&nLUTISVIET6N & L Tewm GEMLIL (LpeoLD
FLIMHl&SEOMD?
AGEMLILY B.)NaOH C.)NH3 D.)HCI A
Qg 8levaen
24 Contains a considerable amount of potasium soap and stearic acids.
A)Medicated soap B.)Shavingsoap  C.)NaOH D.)HCI B
2 2_enensmey CILMLL &I GETOL LHmID oL HI% SiBleold
(A wGmSGI Gamiy  B)GFaNR Camifed C)NaOH D.)HCI B
25 have some phenolic anti-septic
A)HCI B.)Medicated soap C.)Shavingsoap D.)NaOH B
25 2_6remenel LEuTeOld &y6lq. blFLilg& SL@GLW.
|A)yHC B[S SI6U C.)\e&eM D.)NaOH B
: Gem('_[lbl.%e% G&mULed
%1 Soaps are used as cleaning agent in dye silk and Rayan Industry.
A)HCI B.)Industry soaps C.)Shavingsoap  D.)Medicated soap B
% GETULSET 2 LCIINSLD Sieenil &&FLD Qa1 DD Gywime
| QsmAharemeEeT LILETLRHDE?
~ |AvHe B)AgmAmETme  C)Gseli Gamiy  D)BHSIe B
i Gamuysen Gamuy
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. Questio
7ing soap different f : ns Correct
shﬂm ' fom Toilet soap by Which met, " Ansv/er
Mseponlﬁcahon B.)F“tEration c 0 15 DI "
Lo STLL| ODIB & e o D.)Heat A
capueaDs! Wy (popuneo
HEMLTES By s .
p el lgGeL Y .
si)) ‘ - Bge Caeuqu@UupeIsh  DIHLIGGSED A
fmoap can be prepared by process
\ .
A)Cold process B.)Hot process C.)Osmusi
,’W@mmm Gamly sis D.)filteration A
| N m‘ﬁmmmm@ﬂmg?
A)@Glﬂﬂ 59 B)&L 6@ &6b C )esiiqu U & Djunssl@aw | A
qroegensae __sars @I DIROR-DP
e 5mB.)SOdium C.)Sulphonate  pjPotasium c
Q/WWG &Ul_l&;mﬂ'm %m@
wgmmﬂu.m B Gemauid C.)geoGumeu_ DouniLrfwd | C
7l Detergets are made from methods
AJFiltration B-)Synthetic C.)Natural D.)Cold B
| mgagsmGasT ODDOD SUTEEIIGHDE?
NugbSLBF B LISWHMS CIQLDHMS D) oMLy B
31[ InDetergents hydro carbon chain consists of corbon atoms.
A)12-18 B.)10 C)12 D.)14 A
T aCiogan® ManLGCITETILsT A5l SMLIGT SIFSHSET
LI(16)18
A).12-18 B.)10 C.)12 D.)14 A
2| The hydro corbon chain contains group.
A)HCI B.)NaOH C.)Hydrophobic  D.)HNO3 c
72 | MamLGHNSMLIEN &MhigleOlTen QBTGS) 2_eneng).
A).HCI B.)NaOH a.)ﬁrjsn &@Ld D.)HNO3 c
&
33| Polar group contains group.
A.)Hydration B.)HCI C.)H2504 D.)HNO3 A
7 | cuneont aanGsileo CIHTGS 2_6neng).
A Biy gHmLD B.)HCI C.)H2504 D.)HNO3 A
34| What is meant by shampoo
A)Haircure B.)Control Head  C.)Control vomit D.)Control typoid A
Product achea
34 | GQMDU 6T6uTLIS) 6T6vT6uT
. . > A
AN (g6l B.)GENEVEIGIEMILI Féec eumhElenw D)L LML
&GS QFLILILD BISS Hmi5s
QuT(m e
35| The nature of shamppo is
_ |A)Viscousliquid  B.)Solid C.)Gas D.)Liquid A
3% | agmbLeNer HisnevenLd
AUl Bjioth  B.Sedmold Ceumy D.)BjLotd :
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Questions Correct
. X
W’“ of shampoo Answer _
ree B.)5 deqre

AY 8% celciusg © C.)8 degree D.)10 degree
celolus celcius celcius

36
Icius B.)5 de ) |
A).7 degree ce gree celcius C)8 de s O
7| Anyone types of shampoo — ___G.)8degree celci )10 deg
B.)HNO2 .
A)Dandraft CNaOH
ghampoo D.)NH3

——1"Use of shampoo

— [ Empenlen 2_LIGIITSLD

—79| Shampoo from

T ooNDLLAIIET CUNSLT(D8 e )

—_—

AQUITO® O9MDL  BJHNO2 C.)NaOH D.)NH3

A)Silky hair B.)Avoid Head C.)Control vomit

achea D.)Control typoid

AWRDIL LTLASS B)Smeaidenw B55c umss Amiss  DImLLTLIE

A)ndia B.)Rusia C.)Sri Lanka D.)America
subcontinent

—35 | egnibLLele GHTMMLD

AT B.)yeiowim _ ; ‘ ;
A g%?r%&s&m_tb eig C.uBeoris RETATYEEY,

20| The purpose of shampoo

A)Dandruftand  B.)Avoid Head C.)Stop vomit D.)Stop typoid
Parasistes acha

70 | e@mDLEIGT GCHT&SESLD

AQUIGE LHDID  B)Semeeued §66  C)umpbHenwl D. )L Lmii®
; @L@Mﬁm HSh [ELM_Q@ Mg,g,
- 4| Inliving environment the biosphere consists of components.
L |as B.)3 C.)4 D)6
i | &OnIULD L WIF&GHTeS Slev BTG 2_6eng).
g A).5 B.)3 C.)4 D.)6
. 42| The presence of gas in water is indicated by
A)Foam B.)Cold C.)Heat D.)Filterarium
2 [ BT eumy] 2_enteneng, ClalenaaML (KM,
A) lemiy B.)&eMliy CYHLTS D.)6u1q. &1L 63TT6L
431 The turbidity of water can be measured by meter.
A)Turbidity B.)Filtertion C.)Thermometer  D.)Multimeter
43| BIS Geomaen 2 erenons LT CLp6ULD GIT6uT6VNID.
— |NsR&eT B.)ouIg S (&6 C.YagwmbLL iy D.)eLIg LB L[
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1, Unit 1
i_o;_______f. Questions CorrecT
44| Turbidity can be measured by sensor. Answer _

A.)Thermo B.)Filter C.)Turbidi

— ' ity D.)Neuro

| SHEVMIGET 2_61 v c
m Bqﬁiwm eng___ LIg 6T cLpeoid Geviconin.

A) GG TLDT B.)oulg &1 (D6 c 186
<75 [ Normal Range of Turbidity in water Briadr DG g
o A)70 L B.)S0 C.)INTU D.)80 c
75 | D0 SELMISET Sieney —  AOmEs Geuer(HiD.

A).70 B.)50 C.)IN
m—— = * TU D.
46| Which of the factors the nitrogen depletion of soil? i :

A.)Fertilizers B.)Soil C.)Water i
] 2 . . D.)Environment A
26 ?glbgﬁiiiigzlmm DBLIRD6 Heneo RMISSID arjemasmer UTEEGMD S

A2-TLD B.)Lo6gur CBiy

D.)&mmILLmEs A
o160

a7 is the simplest equipment used for collection of solid particulates
A)Heatprocess  B.)Tuning bucket C.)Filteration D.)Cold process B
7 ETEOTLIG) SI6MLD F)SETHENET TeMeNDILTEF C&&ll&s LIWaTLHEDE).

A)&BAFILGED gg{f?&[ Q&IIuLD C.)u S (Hged

DigeNjeliuss | B
eLpEVLD

48| Pollution causes can be cleanified into types.
A)8 B.)6 C.)8 D.)9 B
48 | Lon&L(h&e0 &mysuulgen _ UEMSSHENTS LIl SSULIL (Heneng).
A)8 B.)6 c.)8 D.)9 B
49| The formula of water
A)NacH B.)H202 C.)H20 D.)H2S c
49 | Biflew eevsgam eumuim(p
A).NaoH B.)H202 C.)H20 D.)H2S c
50| How is water polluted?
A.)By a micro B.)HCI C.)HNO3 D.)NaOH A
organism
50 | D LON&GL(HSI THI?
A) pissmemniuf) B.)HCI C.)HNO3 D.)NaOH A
51| What are the disease caused by water pollution?
A)Cholera B.)Vomit C.)Sleepless D.)Mouth pain A
51 | B DT&UNL g e0TTe0 GMLIGLD CHITLIGEN WNeneu?
A)STeon B.)ounp &) C)anéallemeno  D.)eumil eued A
52| What s the main reason of water pollution?
A.)industry B.)House C.)Trees D.)Animals A
— '
82 ‘Bﬁ LIFMLUGHDES (PSS STEURISET 6T6N6U?
AOsmADETmevaEsT B.)ONH ST C. ORI D.)ele0mIG eI A
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0. ues
%W effect cause low oxygen level in wateS? e g?"::‘:t'

53

5T epB nETeNIeN Semiong Bjlen QY HEOR 6T o]

A)Directeffect  B.)Heat effect C.)Cold effect D.)Side effect

: . 66y GMDEMSH?
G ellsmerey BAeull ellenatey  cygely efmeney D uda aNeneney

—54| Generally how much level of oxygen, present in water?
54 | CIUTGIUTS DIEL Sp&EEOIRET SieTey eTeloate) G aa CousmGiD?
A).15 B.)8 to 15 m/g C)5 D.)10
55| World water day?
A)March-22 B.)Jan-10° C.)Jan-20 D.)MJan-30
—55 | 2.69& b SHewd TOCLTE?
A)LDMJ&-22 B.)@sweuil-10 C.)memeu)-20 D.)6weurfl-30
56| Colour of water is?
A.)Colour less B.)white ‘ C.)Green D.)Blue
~56 | ByisoT HIMLD eTewTsr?
ARDLOMS B.)Qeusitemern CuémE D.)ostg T
57| Source of water is
A)River B.)Well C.)House D.)Lake A
57| Beueny HOLSGD @LD____
A)2Lml B.)&lwim) oR () D.}gil

58| Boiling point of water

A)99.98 degree  B.)100.5 degree C.)102 degree D.)105 degree A
celcius celcius - celcius celcius
58 | Myiet QETSIBIEnev
A).99.98 degree celcius  B.)100.5 degree celcius C.)102 degree celcius ~ D.)105 degree celcius | A
59| Wateris
A.)Toxic B.)Non-Toxic C.)Flamable D.)Stream A
59 | B eTenTLS)
ABEGESHMENNL L BIBE&SSETMLOWLID Cyflué salquig  D.)EGoTEnL A
WIS 10,53]
60| pH value of water is ?
A0 B.)7 C.)8 D.)9

60 | Bijledt pH SLIL]

A).10 B.)7 C.)8 D)9
61] Moleculor weight of water is ?
A1 B)I18 . C)15 D)9

61| Bauswihlen Le0HEnm) cTENL. ETEMET?

A1 B.)18 C)15 D2 —
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No.| Questions Correct
_’6‘2— Molecular weight of oxygen is Answer
ANS £12 C)t6 D.)13 "
—57 | SHOOVIREIET OCESe T eTenL
A).15 B.)12 CM6
—53 | Molecular weight of Hydrogen ) Baig A
ol Ly BN C.2 D.)3 B
53 | MADLIRNEN CLNEES M) cTenL
A5 b B.)1 c)2 D)3 .
64 | Water pollution is the of water bodies.
A.)Contamination B.)Pollution C.)HCI D.)HNO3 A
64 | by LLI&L(LSSIFHEL eTeoTLIg)
ASIESSITHD B )om& C.)HCl D.)HNO3 A
65| The main reason for water pollution is
A.)Chemical things B.)Man C.)Animal D.)Bird A
65 | By ISELGUSHE (PSS STsaeT
A CRIAIAUTBLS6T B.)Lo6tNGsbr C.)eMeomi D.)UMEmE A
66| In present water is polluted by ___
A.)Oil and Fat B.)Animal C.)Man D.)Bird A
66 [ HMGUIEI B LoT&LIHS 06T 6uLh)
ARG (10)  B.)alleumi@ C.)oeuflg e D.)Umesne
QL g Um A
67| Due to water pollution, the disease caused to humans
A.)Jaundice B.)Calora C.)Vomit D.)Mouth pain A
67 | B LOM&LILTL_L 6L D& E)I&E §DUGLD GHm
A)LDgh &6 SMOTeney B)eUUIHMILIGUTSES  C.)oumhé) D.)eurmiit 6u6d) A
68| How to does water get purified
A)Cold B.)Filteration C.)Adsorption D.)Heat B
68 | Geweniy) enpwiled &S SeflEsEiuEEns)?
A)BsMijaNs geo B.)6ulg. &L (H&6L C.)2-MEr&&e0 D)L &G &60 B
691 Main sources of water pollution by
A Agriculture B.)Industry C.)Man D.)Animal A
—_|nings wastage
% | WEAULNS By wreELTE ALl gHUOHDS?
Asleugmu Quimp e B.gg,n@m&nmm C. L0613 66T D.)elevni@ A
— SLhley g6
79 x is the one of the catagries of water pollution.
|AH2S04 B.)Organic C.)HCl D.)HNO3 B
7‘ T pollutants .
Ut — Q0 LT gy ISUGSSIST 4@D.
|A\H2504 B)GfL C.HCI D.)HNO3 B
St LOMSLEESSSen
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TR R
1) — Questions Correct
71| __—istne another categories of water pollution Angwer
A)H2S04 B.)Thermal C.)H
) pollution JHCI D.)HNO3 B
et o { y v
7| DOIDTG ISnSILITET B DreL®s gad
A)H2S04 B.)Qleutin C.)HCI D.JHNO3
s OIS Haen ) ) B
—77|___is the another categories of Water pollution
A.)Patriogens ' B.)HCI C.)HNO3 D.)H2S04 A
T2 | OOUDTG QImEIITeT By oTaLsSae
ANCHMUAGLASET B )HCI C.)HNO3 D.)H2504 A
—737"—____ is the another catogries of water pollution
A.)lnorganic B.)HCI C.)H2504 D.)HNO3 A
pollutants
73| LODCMTE QUENSWITET Bhlen LIEL(E5S SpGLD.
neaflo B.JHCI C.)H2S04 D.)HNO3 A
LDH&IJ!EQ@&GTT
74| Whatis the % of the ocean polluted
A.)85% B.)80% C.)90% D.)100% B
74 | BLEV E1HZEN6T &FHEUGLD LOME SIEDL_bBIeNeNg).
A).85% B.)80% C.)90% D.)100% B
75| Write the main source of water is
A)Ground water  B.)Tank C.)Pipe D.)Waste water A
75 | Sewemyien (WHSEIL SLSTID 3LGLD.
NS5 BB Ig C.ymull D& A
76| How much percent of earth is polluted
A)45 B.)40 C.)50 D.)60 B
76 | LD eTeuIeNaTe) F&EUSLD LOME SIEDL[HSHIETETE).
A)45 B.)40 ' C.)50 D.)60 B
77 is one of the method to store water
A.)Pord B.)Dam C.)Pipe D.)Valve B
i gemneuieny G&LDI&S 6o ([ ULDILITELD.
N e T B.)&r6n6u0T C.)mun D.)eumLpey B
78] Water cycle is also called
A.)Hydrogic cycle  B.)Earth cycle C.)Nitrogen cycle  D.)Oxygen cycle A
78 | Sevemen Gpme ____ asom) SIMNGSLIGHDSI.
A Bifeneo B.)ULA &M & C.)}mpLJe26ir D.)ay&A\ 6l A
&mgjé\ i HLOME &M
18| Clouds luse their water as rain it is called _
A)Precipitation  B.)Filteration C.)Cycle Djloss A
79 | ClGRGeT Denip QUTHIeIS6T aulpins peog QSIS (AT TAENEED
— Nealhugamser  BIUGELBSD C.)HpHA D@Ly A i
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—//_
3.No- Questions Correct
.—gms?overed watercycle Answer
A)Tafa ' B.)Bernard paliissy C.)Thomson D.)Raman B
—5 [ peve) PO S D5 seny
B.)Glu) ; —_ P
—57[ Who discovered evaporation
A)Tafa \ B.)Nils Walkeri'us C.)Raman D.)Thomson B
—57 | SIS HISLNS SN ST D556
ALICU _ BIBebatv eumjero ¢ gmnsir D&MD B
—g2| Who discovered specific heat
A)Gob!e ‘ B.)Joseph Blfelck C.)Raman D.)Evans B
—5 | GOLIILL QOIlLE S 6L k5 e
A@CsTL BCRIQsL Matmé ¢ )ymosin D.)F6usiTeiv B
—83| Who discovered fixed air
A)osep Black  B.)Thomson C.)Newton D.)Globe A
5 '@msu BIMNISSULLL STHEND &600L Db S 6uiy
A)Cgel Ulemd  B)SMOEsH C ORI L gir D.x@ G A
84| Who discovered oxygen "
ANoseph B.)Thomson C.)Tapa D.)Raman A
priestiey i
B4 | 2pBErOIQENET S DIbFHeu wmy____
A)Cgrsll NflevGeo B.)FMDF6T C.LnGu D.)jmLoedt A
85 is the molecular formula of Bleaching powder
A )CaClO2 B.)HCI C.)HNO3 D.)H2S04 A
85 AL SMLMLOWLITSSIWIEN (LSS M) EUMLILILIT( S4@GLD.
A).CaClO2 B.)HCI C.)HNO3 D.)H2S504 A
86| Bleaching powderis a
A)NaOH B.)Oxidising agent C.)HCI D.)H2S04 B
85 | HMUMLDILITES 6T6uTLIS)
A).NaOH B.) Q5816 gl C.)HCI D.)H2S04 B
87| Ca(ClO2) means hypochlorite.
A )Calcium B.)Na C.)NH3 D.)NaOH A
87 | Ca(Cl02) eTeviLI) gamuGur@Gearmeny(h
A) STEO&AWILD B.)Na C.)NH3 D.)NaOH A
88| Bleaching powder is
A)White-yellow  B.)Red C.)Green D.)Blue A
8 | gniemwunss aerugl UL
AQaT-EF B AL C.u&6me D.)feotd i
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— ﬁ;Unlt 1

o] — - Questions Correct
9| calcium hypochlorite means compound Answer
A)HNO3 , B.)Inorganic C.)HCI
g9 | BreElILD mmu(!un@(:mnmg@ g

A)HNO3 B)aalng Cajuon ¢
, .JHCI
30 “What is the common name of bleaching powder ) e -

A)Calciumoxy  B.)HC
hlorite C.)NaOH D.)NH3

o R AT B N TATIT

SO &0 B,
gcmml} @ L) B.HCI C.)NaOH D.)NH3

91| Molecular weight of Ca(Clo)2 i

A)142.98 gmol  B.)150

31| Ca(Clo)2 -6ur WP EV&E M) 6TenL
.142.98 g/mol B.

92 A:\Aelting p?:int of Ca(Clo)2 is)150 L il A

A)120 B.)110

92 | Ca(Clo)2-63 2 (lhGHlemev

A).120 B.)110

93| The pH value of Ca(Clo)2

A)21078 B.)8 C)6

93 | Ca(Clo)2-61 LOGILIL|

A.7.2107.8 B.)8

94| The density of Ca(Clo)2is

A.)2.35 g/cm3 B.)3 c.)7

94 | Ca(Clo)2-60 SILJ§H)

A).2.35 g/lcm3 B.)3 C.)7
95| Hardness of water is due to

D.)H2504
G&LD.

C.)160 D.)170

C.)100 D.)130

C.)100 D.)130 c

D.)9 A

C.)6 D.)9 A

D.)6 A

D.)6 A

A.)Calcium salt B.)Na C.)NH3 D.)NaOH

95 | Bilel Sl &eenLDSE SN

AsmL&Wb 2 1] B.)Na C.)NH3 D.)NaOH
96| The equivalent weight of MgSO4 is

A)80 B.)70 C.)60 D.)90 C
% | MgSO4 -6ir &LomewT eTenL

A).80 B.)70 C.)60 D.)90 c
871 Who gave the name oxygen

A.)Globe B.)Anthoni-Laurent C.)Thomson D.)Newton B
de Lavoisier

97 | o55Qea QUL QaTHSHea]

A GGenmi B.) i Gamenl C.)@MD 6T DAL L6t B
GOMITSIIL Ig,
sveUMLIEILIT
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/r”"——_ e —————
§. Mo Questiong Corrace
‘—j “Tre modeciar weigH of M3504 i Assvenr
Lo B )149 P ——
A : Cl#gma Dy
T Tig504 48 (PO e D c
v '\
A 130 B )14y C 1120 288 o .
/jd-'; Wawm(a.’wi(a'dmwa (}_.4?’%‘ D;EO C
/ B )Na2CO3 C MNz20H 0 e 5
% ﬁizﬁ e Qpeoaaa gy UL aeren
_ Ao el C MaoH D i 3
0 n Tomatog?
AAscabicacd B JH2 804 C JHC! &a
Lk D JHNO3
—5 | BAAae) 2 e Ziben az7 4
saiis .
mxb B.JH2 S04 C.HC D.JHNO3 A
Unit 2
5.No. Questions Correct
" 1| Foodprovides
A JEnergy B.JFat C.Joi D.)Acid a2
1| e-amey SHEDZ.
A) S4HMED B.fa&mupiiy C. eimQszaniy D.)za8e01d A
2| Food improves
A )immunity B.)Fat C.joi D.)Acid A
2 | eamey Gal (R&EME?
AT 568 B.Jaamply C.p1emQemmiy D.jz#f8601d A
3| Raw food is example
A JFruits B.)Rice C.)Bread D.)Vegetables A
3 | sanDEENG 2 UMAlDG 2 ZNsmLD S GL0.
A)LILDMIBET B.)2ifl& C. A D.)amisfiadr A
4| Cooked food ____is example.
A Nuts B.)Rice C.)Fruits D.)Carrot .
) 4 | EMIDGS 2 6 2_GNJRHLLNGLD.
: A sleng &en B.)2ifl& C.UpRIGET D)@ 8
‘ 5| Breadis fat food
A)Low B.)High C.)Medium D.)Too high A
5 Q&{r@ﬂu 2_Gu6).
A) Gmeumest B.)2ig&L0Mmen C.p(h&aomen D.10& 218D A
6 Biscuits are made from
—_ |l B.)Wheatflour  C.)Rice flour D.)Fat B
6 | Ggnlig e sWNlasUL(REHnS).
—_ |WasmQsmmis B.C&IgIMIO ne]  C)ifl& ey D.yaasmagiiy B

Scanned with CamScanner



e THE RAJAH'S COLLEGE

(AUTONOMOUS)
PUDUKKOTTAI - 622 goy,
NOV 2019
Unit 2
,.,.—r‘"""f
No. Questions Corract
—7| ___—Acid n carrot Answer
A)Tartaric acld B.)HNO3 C.)H2504 DJHC)
—TWLU}G\) 2_eren &leG\)LbTTgJW A
1)L B.
m.ﬁ% 1) JHNO3 CH2504 B )
"8”—_ Acid in Onion
A)HNO3 . B.)§alphonic acid C.)Hcl D.)H2S04 8
~3 | OURSMUSSIE) 2 eNeT SIReoD ergrias
A)HNO3 B.)#s0Cuneafs C.)H
SiBeold JHCI D.)H2S04 B
) Acid in Greens
A.)Oxalic aCi(.j ' B.)HNO3 C.)H2804 D.)HCI A
—9 | JMI&Ie0 2 616 SiblevLn cT6TeuT?
A) QY EETE0S B.JHNO3 CH2
SibleVLD )H2804 D.)HCI A
10 Acid in Brinjal
A.)Chlorogenic B.)HCI C.)H2S04 D.)HNO3 A
acid
10 | &55\15&MIIIE0 2_6Ten Sithlevld a1§)?
AGGamGITAgeaNs B.)HCI C.)H2S04 D.)HNO3 A
iLblevLd :
1 in Drumstick
A)Miristicacid ~ B.)HCI C.)HNO3 D.)H2S04 A
1| (DGRIMSSHTIIICL 2_61T6m Siblevld 61817
A) j_ﬁ]mq'\)lq_&. B.)HCI C.)HNO3 D.)H2S04 A
2iLbleoLd
12 Acid in Yam
A.)Linelyic acid B.)HCI C.)H2S04 D.)HNO3 A
12 | SHOMEILOMIEI 2_616T Siblevid 6187
A)OGerrmevui s B.)HCI C.)H2S04 D.)HNO3 A
SiLblevLd
13 vitamin in Milk.
A)C B.)B C.)A D.)D c
13 | umedlev 2_6mmenm eIl L LBl6uT&6I Wimemeu?
A).C B.)B’ C.)A D.)D c
141 Which energy high in milk?
__ |A)Carbohydrate  B.)Vitamin C.)Protein D.)Fat c
14 | LUMGOI6L SIFNGLOTS 2 616N FSHG) 61617
A)BTiCuremamLCrLB.)ailLL LA C.)4Grymie 6ot D.JA&mpl c
151 Which disease occur in protein dificiency?
A)Marasmas B.)Scarvy C.)Pery-Pery D.)Fever A
15 | UGIT el @enmULITLLT60 eu(GLD GHTLISE?
: VG - JBMLIEF60 A
A)LDTERLDG B.)ervGTe C.Jaufl-Quif D)5
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e
o | Questions Correct
16| Whatis the name of low protein present in the body? Answer
A)Acid less B.)Hypo Protein  C.yThytoif D.)F
. v d .)Fat less
6T L y
7 | LOITLasH 216060 GMDaITS GG IsHE oy aeer
—17| Which country is the large user of mik? G0
A)Nepal B.)America C.)India D.)Sri Lanka
77| UTEme) SISISLONS LILTLRSID Br() g7
A)GHUTETLD B.)QIQwf&aT C @B D J@OTHIMS
18| How much quantity calories in one cup of mik?
A.)105 Calories 'B.)102 Calories  C.)107 Calories D.)110 Calories
18 | 1 6L LTeDlev 2_arem &Ceomilerv oieney §T6M6UETEY?
A)105 &Geomjl ‘ B.)102 &Geumi) C.)107 &Geomif] D.)110 &Geomif]
19| How much quantity calories presentin one cup of carbohydrate?
A)2gm  BJ)i5gm C.)20 gm D.)25 gm
19 | 1 8L LGOI 2616 SMIGLTH MG Sierey sTeueueTeY?
A)12 SO B.)15 &lpmid C.20 Ay D.)25 &b
20| Which country is first in Milk production?
A)Srilanka B.)America C.)India D.)Nepal
20 | UMeL 2 MUSSIUIIEV (LPF6DI6L 2_6TTea B 6187
A) WO B.)@iQwfl&am C.)@BSwir D.)\CHLIMeNLD
21| Who discovered milk pasteurization?
A)Louis Baister ~ B.)C.V.Raman C.)Chandrasekar  D.)Routherford
21 | umemev USLL(RSZHIZHM6V G601 (h'Llg.& el wij?
A)gumiiieny B.)&.61\.[mLoedT C.} b ACF &I D.)XeHGH G
un%"a'm_f} GOBICLTIL
22| Which temp in milk pasteurization?
ARto7degree B.)5Sto7degree  C.)7to9degree  D.)9to 11 degree
celcius celcius celcius celcius
22 | urene USLIL(KSSIUGDG C&Hemaulmen tleulLblenev?
A)2 to 7 14.81f] B.)5 to 7 1g.8\f] C.)7 to 9 1n.&ifl D.)9 to 11 1g.&f)
Qged&lery QFeL&lLeM QFeL AL Q&8
23| Preparation of one product from milk?
A )Fat B.)Palkova C.)Acid D.)Baze
23 | umenew LWETL(HEE HWMFIHGLD 69 ([ CLT(HeN
__|AQsmggiy B. UM Ga&TeUT C.)SilblevLDd D.)5MLD
24| Preparation of another product from milk?
AFat B.)Ghee C.)Acid D.)Baze
2 | UTemey LTSS SLMIGGLD HADTE LLTGe?
—_|NQsmpiy B.JABLL C.)oiLblevLd D.)&MLD
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picl Questions Correct
Lgmy one minerals present in foog? -
A )Calcium B.)Bromine C.)Magnisium D.)Sul
; ] . .)Sulphur
ﬁ-mﬂ) 26N STSIGEET et QI
p)STEOAILILD B )UGHmBetr C.)oéafAuwih b
"{EW another minerals of food? ~hpa
A.)Sulphur . B.)P'otassium C.)lodine D.)Magnisium
—55 | -emeulev 2_amem LOCDHT( STEI&EH6men §T(LDS).
£)BHSELD B.JumC Lr&uwih C.)@1G1Lmiq 661 D. )0 &6TAILILD
—27| What one of the advantages of eating rich minerals in food?
A)improve body  B.)Remove C.)Weight i
tiedness inc)reas% Dlg s ack

C.KT60L. ol D.)3iLhleoLd @emmi
28| What are the uses of Calcium?
ANerve cell B.)Weight C.)Acid less D.)Remove tied
improye i INCrease ness
28 | BMESILSS\6ST LILIGTUT(D&H6T WTenen?

77 | BNSIESET 2_6en 218 2_eworeney 2-6WILISTEV JML(HLD HETeNIDGHET WITEnEN?
L3 o
A2LE CLILGSB )\Camijme i1:3:3

ABIIDY QFL&MET  B.)STENL Fal
CobGss

C.)siblevld @enmws  D.)CFMTame &M

29| What are the uses of Potassium?

A.)Remove tied B.)Maintain Acidity C.)Weight

( D.)Less acid
ness increase

29 | GumLL &g Sles uweTum(R&en Wireneu?

AGemjmey §56  B)SINSSED  C)TaL Sl

D.)sibleuld Gemmi
UDmLOHl& 560 G
30| How much quantity of calcium present in human body?
A)10% B.)5% C.)2% D.)9%
30 | Lo6TlE 2-L_6Vl6L 2_6TTe &0 SILIGFN6T 66y sTeueveney?
A).10% B.)5% C.)2% D.)9%
31| How many percentage of fat present in Chocolates?
A)70% B.)60% C.)50% D.)40%
31 | #8&GeL 16V 15FEMen FHTHLD CBM(YLIL 2 eneng?
Y |AT0% B.)60% C.)50% D.)40%
32| How many types of acids in chocolate?
A)10 B.)3 C)5 D.)7
32 | EMBGRULIG.60 61556060 eUENEIITEN SILDICVRIGET 2_GTaTeor?
R AL B.)3 C.)5 D.)7
33| Which acid is used in manufacture of Chocolate?
A)Balimetic acid  B.)HCI C.)H2S04 D.)HNO3
33 | gn&GeoL” sWMHINEL QUGLEeN 2 UGILTAGGULGLD S 6181?
A)UmediLblig. & B.)HCI C.)H2504 D.)HNO3
Lb

——
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No- | i Questions Correct
-'37 Coco seeds obtained from Answer
A JAcid B.}Wine C.)Milk D.)Ghee B
=7 [ Conean QMG &en THONHHE) OUDULGBmg)?
1fleoLd B.)spi6t : :
[Nas oWl C.Jumed DYl "
35| Important substance from Co-co powder is
i ol B.IMi
] A )Paliphen Milk , C.)Ghee D.)Acid A
75 | GoMGaN URL U160 Snemiun WHEU Coug) LT G6 g7
Ayumed! ewTired B.)ume C.OmILl D.)aiLBlevtd p
=36 | In Chocolate small amount contains Amine is
A)Coffine BNH3 C.INHCI D.)Phenol A
’5‘5‘ FTHLAIL 1.6V STETLLI(LLWD W Sleney i g7
A)&ma ’ B.)NH3 C.NHCI D.)Jemmeb A
37| Good things available in chocolate for human is
A)Anti oxidents  B.)Antibiotic C.)Energy D.)Fat A
37 | ETEGELIGED BLOGE BHETENLD §&Enlq Il QLTHeN
AZLumg B.)@y6001lq. UQWIMe &  C\&6 '
24 HAAL G670 45 C)E&d) D.YAsm(puiy A
38| Which acid is Antioxidents?
A)HNO3 B.)Play viniods C.)HCI D.)H2S04 B
38 | LY SHFICILQTL 616V STEmILILELD SibleviDd 618]?
A).HNO3 B.)dleneuesimii_erv  C.)HCI D.)H2S04 B
39| How many types of vitamine present in Chocolates
A)Ten B.)Three C.)Six D.)Four Cc
39 | EM&GEVL 1.6V 6155 6M6UT 6LEMSBILITE MEUL L LDI6TISH6N 2_eTeren?
A)10 B.)3 C)e D.)4 c
40| Chocolate stimulate _____is brain
A.)Ceratonine B.)Ca C.)Na D.)K A
40 | &nEGeOL CLPEM AT 6T156M6U PG5S CIF IS DS
A)QFQpLCLreafstt B.)Ca C.)Na D.)K A
41 Chocolate control ________ disease in human body
A)Liver B.)Heart C.)Hand D.)Brain B
41| EMaGeL 2L D0 61hG GHNIL SL(HEGE MeIGEGLL?
A)FFIT6D B.)@(mSWID C.)0& D.)cpsmen B
42| What are the main ingredients present in chocolate?
A)Cocobutter  B.Fat C)Acid D.)Ghee i
42 | §T&GeL 1g60 2_enen (L& CLHEOLIGILIT(HENSET 6T6T6T?
ACETCET UL LY  B)ASTIQUY C.)aiflevLd DAL i
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5. NO. Questions Correct
,ﬁmthe other name of baking chocolate? —Ansuer
itter chocolate B.)Ora
A.)Bitter : )Orange-chololat C.)Honey-chocolat D.)Parry chocolate A
Sl FTHGEVL 1 67 LomQ) T
—77 | Ou& WD QWi siemenrs
L0 B. ; s Can” . . gt
g)gcm?-_ JOBTEE STECVL C\Cgein anéCouL. Dyl endGel. | A
ﬁ‘ﬁﬁord is chocolate is derived from
Classical B.)Greek ; 2
G;guat ‘ ) ‘e C.)Switen D.)Russia A
7 | BBLRL (D QINEMS TENGEE] e SHILHHE?
ABTESE BT  B)ACTHs10 C.)ervafl_sir D.)yelguim A
—25| Which colour a chocolate is most available in markets?
A)Blue B.)Dark Veriaties C.)Green D.)Red B
% | b5 BIDSSIE0 STECOL Baa QUTgienns aiGamE)?
A)feoLD A B.)ILj Himib CIUFNE D.)8leuliy B
26| Famous fruit in Maharatsra state is
A)orange B.)Banana C.)Apple D.)Grapes A
46 | LDSMIMERIQ I LOMHIE0SS6T MYFFEALDHM Lipid
A)-21J(E5 St B.)umsmip C.)gplnNein DAL e A
— 47| Famous fruit in Karnataka state is
A)Nanjanagud B.)Orange C.)Apple D.)Grapes A
Banana —
47 | SUBIL&T LOMble & Sletr DISASSALMHD LI
ABESTIL QUTENLD B.)S}1T(Eh 5 C.)ghLifNen D)L e A
48| Famous fruits in Kerala state is
A)Grapes B.)Pine apple C.)Orange D.)Apple B
48 | Gaenm Lombleogglent LITHGSHEILMHM LPLD
A ST g B.)enLI6HT gy L1fleit C.) 4 TEh & D.)&y Liileir B
49| Maximum banana producesin___ state
A)West Bangal  B.)Assam C.)Tamil Nadu D.)Uttrapradesh c
49 | SIBIGIOMET UTENLPLILOW @ MUSSH __ Lomhleod&ed 2_enteng).
v |ASHEG suRSTaTD B.)I6V6eILD C.).0HI(H D.2.58yigCa&w | C
/' 50] Name of the following variety of Mango is _
A)Alphonsa B.)Large C.)Small D.)Round A
50 | SipamemLIeummDie0 LOMBLDSSET eUend 1817
A).2i60GusiTam B.)QUflwg) C. AWy D.)2. (I 6vurenL A
511 Summer seasonal fruits in India
—__|A)Orange B.)Pears C.)Banana D.)Apple B
51 [ DBEN0TeNe L eusaT60 LIDRIGHT
A2y a B.)CLMN&SMLI C.)eumemip D.)@ 1N B
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Questions Correct
3.NO* | e , A
’ nswe
q Apple contains acid ‘
A)HNO3 B.)HCI __C)Malic acid D.)H2504 c
/ff‘ummlm SADIeVID 2_eng.
A)HNO3 B.)HCI C.uomedls gifleutb  D.)H2S04
] ~Blue berry controls disease s Al :
A)Blood pressure  B.)Fever C.)Vomit D.)Typoi
_— ) Typoid A
—55 [ 25T Gl SLOULGEESDE?
ANOT5S SWHSD  Brsmigse Caumm4) D. )L UM A
/g’sﬁ'wbarries controls disease,
A)Typoid B.)Heart C.)Fever D.)Vomit B
—g7 [ oLgTaLi M IR IV O FT I T
ALUTLE B)@swid CBMiIEE DTG 5
—%5| Most popular fruits in the world is
A)Tomato B.)Apple C.)Banana D.)Orange A
— 55 | 2608 Sleneuled USLEUMHM LD
A BSemal B.)agpLiNei C)RUMEMIPILIPD D.)S4TEHE A
56| Which is the most acidic fruit in nature?
A)Grapes B.)Apple C.)Lemon D.)Banana C
56 | QUDMBIIE 518 SleTey JNVFFHE 2 eren LILPLD 6T&I?
A ST e0n& B.)gyUiler C.YIQIN&mE D.)eumenLOUILILPLD c
57 | Which toxin is present lowests in apples?
A.)Cyanide B.)Parathiyan C.)Cholrophil D.)Eclase A
57 | pUdleT LS HleL 616 HEFSLCILIMEEN L& & mmeuTs 2 eneng).
A) &I B.)UITT&SMILImsar C.}6GeonGrmiled D.)}1&60610 A
58| Which fruit contains more genes than human being?
A)Apple B.)Banana C.)Tomato D.)Grapes (o}
58 | 6168 ULDSSIEV LOJLIGISS6N LOGTIE ENEMBTLIGEVILD HAENGLOME 2_6TeNGI?
A).gpinler B.)eumenLOLILILOLD C.)8&&mef DAL & c
- 591 Which food contains more fat?
vy |AAvacado B.)Apple C.)Banana D.)Grapes A
(59| aibg 2 emmalley QaM(PLIL SiGLOMS 2 eTeng)?
A)QeveinQeomil B.) LI qNeit C.)umemipLiLLpLd DAL en& A
60| Cooldrinks contains ___
A )Carbonate B.)Na C.)K D.)NH3 A
Water
80 | @eMLmETmIGHeN60 2 eneneney
| &mCunCe B.)Na C)K D.JNH3 A

QML
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Questions Correct
No-
“ﬁ‘m onenameof cooldrinks Answer
AJNH3 mmmmB-')Cozz:o cola ' C.)NaOH D.)KCI B
7| @euT o JEHMUD peti et L7
A).NH3 B)C&TCaN Caneor ¢ NaOH D.JKCI B
~571 —Drinking of cooldrinks causes )
A)\lomit-contr?l B.)Obesity ' C.)Acid less D.)Base less 8
57 | GAUTETMI&ET LIG@USTE gHLD enenemese
AT S BRLOUGLST  Clouflo gmpey D) GODey | B
—53| Which country is discovered cooldrinks?
A)America B.)Il:\dia C.)Russia D.)Sri Lanka A
—57 | @apUTETRISEN &6vw (h1illg. H& UL L. B(h?
A SQGSST B.)@b&wn C.ypeigwim D) @RS A
—%4 | In the year of Coco-cola discovered is
A.)2000 B.)1894 C.)1892 D.)1990 (>
—54 | ConGaHTGHTEVN &6 (KLl SSUILILL L6
A).2000 B.)1894 C.)1892 D.)1990 c
— 5| Inthe year of pepsi discovered is ___
A.)1898 B.)1995 C.)1997 D.)1880 A
55 | Quben &eT(RUllg SaLULL. Sheu(h?
A).1898 B.)1995 C.)1997 D.)1880 A
— 66| Plantain flower contains energy
A)Base B.)Protein C.)Fat D.)Acid B
66 | eumenLpLl LLAII6D 2 66N F&5F)
A) ST B.)YJ&LD C.Yaampuy D.)@iLbleuLh B
67| Potato contains vitamin
A)D B)B C.)A D.)E c
67 | 2 GEBHHPRI&HE0 STemLiLI(HLD eIl L bl
A)D B.)B C)A D.)E C
68| Vitamin B deficiency cause ______ disease
A.)Peri-Peri B.)Typoid C.)Calora ‘ D.)S:carvy A
8 | LD B @ompuun@ _____ Gomenil gmu(G3gin?
AQUA-QUI B.)LUML® C.)BMe0T D.Jerva el A
69| Vitamine 'C' deficiency causes ___ disease )
A)Scarvy B.)Peri-Peri C.)Typoid D.)Calara
% [ MLLBe C @omuun® _______ Ghrenl goLGSSID?
S [ e A
A SoBTeN B)Aufl-Qui c.emLumil(® D.)amevry
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Ig; Snake gourd contains Questions Corre;
n
N ; energy Answer _
A.)Calcium B.)Fat C)Bas
=T TLoR&MI60 T rE——— D.)Acl
70 LILG\? ) — 558 2_eneng). Mei A
A)STEEILILD B)Qapu .
=71 Potato contain wﬁm}m D)eibleoti
71| Potatoc S _____energy J9iLbleutd A
A.)Base B.)Lactose C.)Fat DJAg
=T o (HOMELDMIF D : JAcid B
A S , 2 F58| 2 eang)
A STILD B.Omeyés s .
7| Bitter gourd contains Insulf;:Jgj C.Qamgiy D.)giLfleoLd B
ANH3 B.)Poly Peptide-P ¢ )Na
plmaale . v -JNaoH
77 | UM&MSTIIIEL 2 6o Qettaedies D.)KCI 5
\
NH3 . .
g [ — BUTEOQUIMLE ¢ )NaoH D.)KCI B
73| Bitter gourd contains chemical compound
B | ﬂm. ' B.)NaOH C.)Garadine+NH3 D.)H2S04 C
73 | UTBDSMLIEL 26161 CauiAum e
A).KCI. . B.)NaOH C-)ascuﬂth.GﬁHNHS D,)HZSO4 c
74| Capsicum contain chemical compound
A.)Neonicotinoids B..)NaOH C)KCl D.)NH3 A
74 | @60L Wienemulev 2 e CeuBQUmmen
g)\.)ﬁ,\(:mnsoﬂfjcasnlqsmw.)NaOH C.)KCl D.NH3 A
75| Vegetables contains
A.)Vitamins B.)Acid C.)Base D.)NaOH A
75 | sMO&MIBET6 2_6Ieng).
A)eNLL LbletT B.)@iLfl6vLd C.)5MLD D.)NaOH A
76| Beetroot contains chemical compound.
A)NH3 B.)Nitrate C.)NaOH D.)KCI B
76 | DLchLlg60 2 enten Geugluclumberm
A).NH3 B.)mBLGIL C.)NaOH D.)KCI B
77| Carroat contains vitamin.
A)A B.)B C)C D.)D A
77 | &L Ig60 2_6mer el L Lblsor
A).A B.)B c.)c D.)D A
78| Biological name of Califlower is )
A)Prasika B.)Malpisi C.)Rusisi D.)Water plant
olarisiya i ;
78 | @neolnleneunIear Hreugedliisy ClLy b R
: D.)eum_L.
ANTTEGSHT B.)TeLGUA C.RBHGLS mlmrsim'_u
il
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I/ Onion contains ____ Acig Questions Correct
7 . _Answer
A)H2504 B.JHCI CIA
1 ARBMNUSSIC0 2 6o Snheor— niline D.JHNO3 c
‘\
A)H2S04 B.)HCI
/aofmmalns _wmmm D.)HNO3 c
A.)95% B.)90% C)80%
ﬁ’@f;ﬂ&@@ﬂ&lm BB 55 m° ' D.)60% c
; Sl o eengy?
£).95% B.)90% -
il pH value of tomato is )80% D.)60% c
A)3S5to 47 B.)5 c)
7| GBoNeMLIeT pH IOZNTIL] D.)7 A
n35t04.7 B)S -
~g7| pH value of onion is ) D.)7 A
AJ55 1085 B)S cy s \
5 [ ORIRETUSSET pH DI — '
6.5
/ﬂfsfm - B.)S C.)2 D.)3 A
g3| Potassium deficiency causes loss.
A)NaOH B.)Fluid C.)Acid D.)Baze B
~53 | QUTCLTEI #88)] GMDULILL 6D _O0&ans).
A)N2OH BBy 5551 C)eifeutd D i B
—§4 | Phosphorus contains energy.
A)Base B.)Acid-base C.)NaOH D.)HCI B
balance
§ | Lmerouj&iev g5 2_aT6ng)
A)SILD B.)giLblev &y C.)NaOH D.)HCI B
gLsiium(®
85| Magnesium contains energy.
A)Protein B.)NaOH C.)HCI D.)Base A
5 | QnaamaILFFe0 555 DHEHDF).
: A)LSL B.)NaOH C.)HCI D.)&MJLD A
» 86 energy contains Sulphur.
A)Protein B.)NaOH C.)HCI D.)Acid A
86 | geounlev 558 QHEHDI!.
ALJSLD B.)NaOH C.)HCI D.)@iLhlevLd A
87| Thiamin helps into energy.
AINH3 B.)Carbohydrates  C.)NaOH D.)HCI B
& | Gowmbest FHEILING LIHD 2-FUSDSI?
. T B
_ |ANKg B.)ammjCLITemAD L JLC.NaOH D.)HCI
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Correct

Answer _

- Questj
Another name of Riboflavin jg s
—_—

)B2 B.)A

: C.
\

A).B2 B.)A
—nother name of Niyoflavin js ————— CJC D.JD
—_—

B.)A

AlD C.)B3 oIl
Wﬁ(‘;mmﬂm mmqmmﬁ\ ')

A)D B.)A

—other name of Folic acid C.)B3 D)C

! ] .
A JFolate .)Sulphate C.)NaOH
Cuneld SiDlev S Sletr LODEMT(® QT

D.)HCI

umGeoL B.)&F6bCLL
f);L preduL C.)NaOH D.)HCI

Folate deficiency causes disease.

A)Anemia B.)Scarvy C.)Peri-Peri D.)Fever

GUICRL GODUTLLIED _—— —pry JOUG S

A) el B)ervajen C.Auf-Quf D.)BMLEEE

Another name of pinantharic acid is

AJA 2155 C.)87 D.)B12

DS T1S A0S N6 HADT(E, ALy
AA B.BS C)B7 D.)B12

Another name of Biotin is

A)B7 B.)B1 C.)B D)A

w
w

LG 63T16uT LoMGImm(s QU
A).B7 B.)B1 C)B D.)A

h 4

Pottasium is control for functions.

A)Heart B.)Kidney C.)Liver D.)Brain

QuILL Tl Goumeauaenar s (HULGESHEME).
A)@SWLILD B)AmIByaLd C.)56060760 D.)eLp6me6T

Iron deficiency disease.
A)Calora B.)Anemia C.)Fever D.)Typoid

Amwug 55 GOUTEH Grmenil gOUGSSID
A)STeorm B.)iesfBwm C.)BMLIEF 6D D)oL umi@®

Zinc high level in body disease.
A)Vomit B.)Fever C.)Typoid D.)Calora

Bt 2_LIb0le0 Sig1e sleney @MHSTe0 G mU(HLD.
A) &) B.)&MU& &6 c.ymLumi(® D.)&Te0NIT

Scanned with CamScanner



' '
"M, Tiig Whinyg OV LEGE

l“""’”’“’l““"
Filtiy
Yiityag . 632 way,
.iﬁ_JA‘,-v"’"""‘r‘- — - T T S —i — ‘l"“ 2
————— B S __q“‘ﬂllmg /mysnd
F"- oM 18 i T — SLsres
il - y .
St i ¥ atie
pra it 17 efless ‘
‘ féﬁﬂ‘w i kg ‘j:‘_‘j“'*-~~~-~/.{f‘l'_’i‘____ 0 jhens p
# g "/J'mu;,"
g YO Banay 0, g .
B e CHCLiidnnds 0 sontien .
: [/ f /4 I o D s
ok 8 o S
,«.,/W'”[‘,&'i,,,—.‘_'_’,!’fi’;%” LT b s
R AN LT P yy Fowmn ;e 2
il | P | e JI‘WWW: ZoTeTTe
Hmuml,uw. ¥ i )‘4;4«.;',,,,,,,,3,4’ eI - .
E————, .. f,.}]]]] dia P
b7 *7;}';5}7}7:: e AMmineg s 1ed a mMW
S —— L 0100 .
| WO B Do NGB G ) SRR -
18 B fanCumigre, o p? ne "
’:;,;' "W any ﬁ/ﬂf{lft“l A — r(,ﬁ" ,% -
M & )Hnos O o fastacy z
/ - P & s D P c
W;"’Tﬂa‘;fﬂllll(l&ﬂ'ﬂ GO LA, i
HH B.¥NO3 AP © prrson c
Unit 2
-
jJuo, Nuestions Correct
o | Yirks on LA them /st Anraar
A gtk _B \Glass C.jfuther 0 forne A
S T | A
MEpLh sauns 6 s .yl 0. A0y £
7\ Winich eemsnt in [ pasts’?
ke 05 ) edisrn Fluds € Ma 0. z
AN Y i R T AR X T,
hFg f2, [0 UL C.MNa D 2
Lyt ey
| meh Voo paste oatains __ i the st taciena
i k[ Tieiosan i )1 uride CMa 0.7 A
VDU GG ane Giha e GATeEsD
L \hsesnsSannne 1 g enn() C. M3 D.J¥% A
4 Watry heral T s N /Aract.
b ‘AMM)frr/ f Corange C Pineappie 0. ) pphe A
1 s apcSienm g, onmuTid BT 2_Censy
Fh Q) 3 )2 sy e Closmeanfougn D)z lnfidn A
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= Correct
Questions Answer
moth paste contains ____ Nitrate.
B.)K B
A)Na S C.)NH3 D.)NaOH
gL K UmU v
/sﬁ@m-' DUmE OBLGHL Qupmieengl.
B.)K B
A).Na C.)NH3 D.)NaOH
: 0t paste molecular formulats
5)02H5 NIAZHTCI3F  c)cams D.JCH2=CH2 B
/ﬁﬁﬂ?m?uﬂm e 6V &80 01 CUTLLLIT( eresien?
p).C2HS B.)C12H7 C13FNa02 C.)C2H5 D.)CH2=CH2 B
7 W&e molecular weight in
ajgats24g/mol  B)233g/mol €130 gimol D.)150 g/mol A
/TWU:“W CLpoL U:ffﬁlml CTemL_?
5)331.524 gimol B.)239 g/ mol C.)130 g/mol D.)150 g/mol A
/B‘fgaﬁrpaste contains minerals.
A)K B.)Na C.)Sorbitol D.)NaOH c
5 TUMUENEUTIEV 2 61161 S6UTILDRIGET
NK B.)Na C.)FMILILLT6L D.)NaOH c
9 [ Tooth paste contains minerals.
A i B.)Na C.)Glycerol D.)NaOH C
3 [ UDUENELINED 2 616 SEAILOLD
ALK B.)Na C.)Ref&pmed D.)NaOH c
10| Tooth paste contains minerals.
A)Calcium B.)Na C)K D.)NaOH A
carbonate = i ' ]
10 | UMUEHEIIIEV 2616/l SETILOLD
ABMLAILD B.)Na C.)K D.)NaOH A
SMIUGETL
11| Tooth paste contains minerals.
A.)Sodium Lauryl B.)Na C)K D.)NaOH A
sulfate
11 | UDUSMFLIIE0 2_61/6iT SHEBTILOLD
A)GEMa LD eomemyed B.)Na C.)K D.)NaOH A
FOGUL
12| pH level of Tooth pasle is
A8 5 )6.83 C)7 D.)7.5 B
2 | upusnaufedt pH . Hoy
A8 B.)6.83 cy7 D.)7.5 B
13 :Tpotn paste contains H202 in safe for consument.
A)6% B.)8% C.)9% D.)10% A
A HDUemEINED H202 LIeumem&@ UNGIGM&E@LI0
A)6% B.)8% C.)9% D.)10% A
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YA |

" Questiong Correct
Some TOOth Paste ;F IS Create Cancer_ Answer
jglusun .)Colgate
AT C.)Close |
. upumEseT DG e p ' D.)Vicco A
NLOEEBET B Cana e ; _

5 -ifich country invented Tooth paste CH8Coneil il el i

1
A)Nepal B.)Egypit C)india .

7 WN &M@mlq.g,g, ] a0 D.)Srilanka B

f :

A)_cmurrmm B.)eT éﬂL'Jgj . .
7 ~Whoinvented the Tooth pasTe'T\C‘)@Dg’]u-'" D.)@e0MRImS B
A)DrPiyabody  B.)Thomson C.)Edison ! P

(PG 600 B ONG S5 67 Wi D.Clumb
A)DrAANLITUITlG, B.)&MLD& i c ; .

77[ Whatis Sodium fluoride formula? .?ﬂlg.&m S &
AINH3 SINAF C.)Na DK B
TGemgLLD LS en (b eumMOOLNE eretreary
A)-,N.'!'j‘3 B.NAF C-)Na ' D.)K B
Sodium fiuoride molar mass ==
A)41.98 gimol,  BM2 g/mol __C.)45g/mol D.)47 g/mol A
[ GaMgILILD LG EnT1q.601 GLOMOMT Blenm etevienr?

A)41.98 g/mol B.)42 g/mol C.)45 g/mol D.)47 g/mol A
m fluoride soluble ___
.- B-)ACi_d ‘C-)Water D.)Hot-water c
WD LI oV 61 ST ,
1 B.)giLfleuLd C.)& cvmeuelTy D.)gLmeur Bif C
in fluoride colour is
o B.)Green C.)Red D.)Black A
D i 6 Hipd TS
B.)UFME Ceuly D.)& (LY A
fluoride melting point \ EX » |
: B)993degree  C.)1000degree  D.)975 degree B
: celcius celcius - celcius
I Litgheniqen 2 (h@Hleme o . |
gree celcius  B.)993 degree celcius  C.)1000 degree celcius  D.)975 degree celcius | B
uoride is also used as o :
B.)Medicine C.)Sleeping agent‘ D.)Pain reliver A
U e ig 6 WGCEED ‘ ‘ ‘ ‘
BILWGHSTSH C)BI68 LGHSTS  D.)eued gﬁlmrrmnﬂmrrr;\ ’
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R Yt st

eohail  B)Face clegy
oy

A ‘ C)cl
. AL IB0E UUFIRE5S; ZnHand  p)ciean g

@SS BN Wasme ..
AS Qa2 *H3Lo Smasman agah 0 BTBMT

&S5 Qg
B.)Ammonia
)NioIl C.
,Am BTG SSITe i G g D.)H2504
i —_—
aOH B.) I CLomen)
N : I
ggm——"'e'ﬁ"ects ofhairdje__————_ CJHCI D.)H2S04
B.)Fever

A.)Mm C.)Vomit D
7| O 8D ULSTUGS SIS gy AT Ll

A)@d’m“mm B.)oMiIF g6 .
[ Wrich hair color is most attracMm@ 2L L

A)Orange , B-)B@Ck C.)White D.)Red
% | B YRS BIDD SIF5H NG hiuGags
NS B.)& L C.Qeusener D.)fleul1y
77| Whathormone Causer darking of the skin?

AMe@nin  B)Prochaston  C)DHEA D.)Cistranina
77 | b 2L SVl6w &(B6nL0 MG F&amer ammsCnmean a7

A)Quoev sefledt B.)UGHTE eroLCrymedr C.)DHEA D.)AlerL L el

28| Which vitamin deficency for young gray hair?

AJE B.)D C.)C

A DJA
%[ QoD GOUL STIewD __—— meur Cibie )@,mmun@
A.E - B.)D C.)C D.)A
2| Wiite Lawson formula ____ ‘
AJC10 H6 03 B.)H202 C.)CH4 D.)C2H5
2 | OTCETE (60 &8m ) CUMLILILT(
_|nc1oHe 03 B.)H202 C.)CH4 D.)C2H5
X Write Hydrogen per oxite formula
__{AcHe B.)H20 C.)H202 D.)C2H5
| PVLTR Oy 21550 (LPE0GFAM] eUMLILILI(H
__ANCH4 B.)H20 C.)H202 D.)C2H5
?t Wit Indigo dye formuia
: s AKIBHI0 N202 B)H202 C.)CH4 D.)JC2H5
| SNCET enL_uNew cLpe0GFam] CUMLLILITG
~ AC16 K10 N202 B.JH202 C.)CH4 D.)C2H5
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/ Questions b
No mnylnen di amide formglg ————— Answer
Al
H8 N2 B.)C2H5
| |A)CE C.)CH4 D )NaOH A
60601 9L SID( (P )Na
- 8 N2 B.)C2H5
| [nNGBHERE C. a
{/ﬂﬁi{nﬁne diamine color O — Iohe L OINGGH
i B.)White
. |a)orange C.)Green D.)Red B
GOTEL T 6T D i
L [T SOy PD&ens QupmieTeis)
ARISF B.\eueemen C.)uéeng D) 6uLIL] B
4ﬁﬁylne diamine molecular weight is
A)108.144 91?191 B.)112 g/mol C.)115 gimol D.)120 g/mol 3,
7 [ CILIENGTEVET DL DI (D60 &m ) eremii?
7).108.144 g/mol : B.)112 g/mol C.)115 g/mol D.)120 g/mol A
~75 Nail Polish combination on
—5 | HGID LL&&I60 2 errenm V& Fam)
ABLCTT B.)HCI C)H ‘ ' A
Q)&d)ﬁo EcSiato )H2S04 D.)NH3
— 36| Nitro Cellulose formula is
A)CH4 B.)[C6 H7 NO2 C.)H6 C2 D.)CH4 B
i 305]n
% | BLGOT Ll&EOEIGEONENOIGT (LH6VEEa M) eumILILIT(
A).CH4 B.)[C6 H7 NO2305]n  C.)H6 C2 D.)CH4 B
37| Molecular weight of Nitro cellulose
A.)999.405 g/mol  B.)102 g/mol C.)105 g/mol D.)107 g/mol A
37 | @BLGOT Cl&EL)ICEOTErolen (LOEOGHInm) TemL.
A).999.405 g/mol B.)102 g/mol C.)105 g/mol D.)107 g/imol A
38| Nitro Cellulose is
A.JOrganic B.)Monomer C.)Polymer D.)Compound C
compound
38 | BLCHT ClFaeGeomerdled 2 6.
A&fg CsHo  B.)(HUI. C.)UevLllg. D.JG&JOLY c
33| Nitro cellulose is form. "
____|A)Powder B.)Liquid C.)Gas D.)Gas-Liquid A
- 9| BTGy ClFeLIGeumeroled 6l leL HleNLSHMF).
AlLgjL§j B.)BjLoLD C.)eurmy D.)eumw-HijioLb A
! Nail polish remover is
~|AINH3 B.)Acetone C.HCI D.)H202 B
- | Bl [ Fe BEELTE ILETLGE)
~ANH3 B.)IALCL meir C.)HCI D.)H202 B
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I Quest| Correct
1 chemical formula of Acatong jg i Answer
) ——
(0] B.)CH4
ACHIZ C)C2 H5 O
; D.
rjfﬂtcl_mﬂm @W )C8 H5 OH A
—
A)(CH3)20 B.)CH4 -
A)58.08g/mol  B.)S9 gimg C.)60
)60 g/mol D.
A Lmevl6ot @G\)g,gmm] AT )65 g/mal A
56,08 g/mol B.)59 g/mol
=1 celone MOlar mass s — _C.)60g/mol D.)85 g/mol A
A58 g/mol B.)60 g/mol C.)65 gimol
T B CL e CLoTeoTy ey D.)70 g/mol A
AL'SB g . 8.)60 g/mol C.)65 g/mol D.)70 g/mol A
24 | Who discovered nitro cellulose?
A)Thomson B.)Henry C
) __Braconnot )Raman D.)Newton B
| opLGnm LlFoICeomeng SEIL (DI & euif w2
A BTLDE T B.Clamsi) C.)ymosir " Lt
9 (aTanp. ) DBy L6 B
45| Nitro Cellulose is also known as
A)Cellulose nitrate B.)HCI C.)H2S04 D.)HNO3 A
% | OBLGIT UFgiGeumery b SIMPEEILG B
AQFDLAIGEITEY  BHCI C.)H2504 D.)HNO3 A
mpLCIL
16| Chemical formula of Talcum powder is
AMg3Si4 010  B.)CaSO4 C.)NaOH D.)MgS04 A
(OH)2 _
% | (PBUPEFIEN LPEV&HFa M| eumUIUT()
A).Mg3 Si4 010 (OH)2 B.)CaSO4 C.)NaOH D.)MgS04 A
47| Molecular formula of Calcium carbonate
L A)NaOH B.)CaCO3 C.)Ca0 D.)Ca B
47| NS aMjUCsIL g 651 PeV&8am) eumuium(y
A).NaOH B.)CaCO3 C.)Ca0 D.)Ca B
4| Calcium carbonate is a
| |A\)Salid B.)Liquid C.)Gas D.)Liquid-Gas A
4| TG snjuCe @
- QQL B. )6y C.)eumwy D.)§\eu-eumi| A
43 Dipropyene Giycol formula
_|AICH4 B.)C6 H4 03 C.)C6 H5 D.)C2 H5 OH B
MLUCHTUTGT Slenenadaneo (oo ddam) euminun(y
A).CH4 B.)C6 H4 03 C.)C6 H5 D.)C2 H5 OH B
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— Unit:
b1
) / Questions Correct
N/O Sipropyene Glycol boiling point ___ Answer
K
’ 0.5degree  B.)250 degree
?e)'iij : celcius SEELOS degree D.)290 degree A
L6 Slenens — celcius
[ @LUCTTLE SIMSTEETEET 85 6 emey
) degree celcius  B.)250 de .
4).230.5 gree celcius ¢ )2 i i A
{We of Analgesic s calieg )270 degree celcius  D.)290 degree celcius
B.)Pain killer
A,)HZSO4 : C.)HCI D.)HNO3 B
T SEOEEE LHIDG Qi ——— 2
paH2s0d  Blaifleumend ¢y D.)HNO3 3
ﬁ’:’mﬁj?sifs classified types.
A)Four B.)Three C)Two D.)Five c
ﬁmngmmm CUENEGH6T
AV BB C) D)5 c
ﬁ"ﬁz'moitic analgesicsis______ example.
A)Codeline  B)Asprin C.)Paracetamol  D.)H2 SO4 4
57| pIjGaNa& EUEVIBIEUMITETINE @ 2_&NTswilD
- |nGamedlei B.)ieroLilifledr CouMpT&L Liomed  D.)H2 SO4 A
%[ Another narcotic analgesics in example.
A)Morphine B.)CoCoine C.)Asprine D.)Paracetamol : A
5 | HIjGaTg.& EUEVIIEUMITE0IH(E LOMQAMDIT(H 2 Gijewuid
A)LomiLileor B.)G&TGaHMUletr C.)sieroLiliflest D.umpméLLLomed | A
55| Topical anestheticsis _____ example.
A )Marphine B.)Benzocaine C.)Asprin D.)Paracetamol B

55 | CLTOG60 aUeOIHEUMT60N &G 2 FJETILD
A)Lomijifedt B.)JQuUeIGETem&Usir C.)ieroLilflest

DUMpT&ILLLomed | B

5| The term analgesic means

A)Without pain B.)Reduce fever ~ C.)Reduce vomit  D.)Reduce mouth A
pain

5 | euedlBleummeuanuwilest GILIM(H e

A)6usll QleOeVTLED  B)BMLIFEED C.)ump 8 D.)eumileued A

Gsmmuy GEnMLILY SDLIL

57| Mouth problem anesthetics used.

A)Paracetamol ~ B.)Benzocaine C.)Cocoine D.)Asprin B
7| aml Q& fenens@ sueoImeumyeual 2 LGILIMEL(HSSL(HSDS
__Aummar Lomey  B)QUsTCSTESWIG CGHTCHMUAG D )sieviflsit B
%®| Asprinis used to reduce

A.)Fever B.)Vomit C.)Calora D.)Sleeping dose A
® | sieromgle GODEEIILATLOSDS]
_Namigge B.)euMb&) C.)&meu D.)@1&E LO(BHE A
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1 Quest Correct
17NsAID' breif ' Angaer
on Steroidal B.)N'on-Semster
g:'-lnﬂamotow Audio Vigya| gg:l‘t’r:"‘:orma! D Non-Symmetry
g Education Education  of Carbon Automs
O S —
on Steroidal B.)Non-Sem -
m:-lnﬂamoto Drug  Visual Educ:tti?);AUdlo £ Non-Formal Health D, Non-Symmetry of
o discovered pain killer? Education Carbon Automs
wton B.Mean-Pierr -
ANE Robiquet ~  C-)Edison D.)Thomson
| TSN &5 Gl 5 5 6 i
() B.)e3etr- : —_
TS Qgﬁg@{mm C.)llg &6t DB Mb&sH
7] Who first invented paracetamo; —————
armon B.)Edison C.
ﬁanhrop morse _ ' )Newton D.)Thomson
T[ UMEILL-LOeV-§ &6t T geur Wy
g)y.%gg"m[fm B.)éTlg & 6t CORWL L 6 D&MD & et
Lormijéro
52| Who invented Ibuprofen?
A.)Thomson ' B.)Stewa'n Adams C.)Edison D.)Newton
7 | GUOCHTCILET &L Bk &6y Wy
) STDE6T B.)er0le uijL C.XTlg &6t D.)BIW L L6dT
5 SBLbe lg B,
63| Paracetamol formula
A.)C8 H9 NO2 B.)C2 H5 OH C.)CH4 D.)C5H5 OH A
0 urrunéh_L.Lons\)-@me'smgu YNNI ()
- |A).C8 HONO2 B.)C2 H5 OH C.)CH4 D.)C5 H5 OH A
| 64| Molecular weight of Paracetamol is —
A)170 g/mol B.)160 g/mol C.)155.189 g/mol  D.)169 g/mol c
8 urrurrﬁl‘.t_mrrsu-(gmamgu 6TEML
| |A)170 g/mol B.)160 g/mol C.)155.189 g/mol D.)169 g/mol C
85| Paracetamol obtained for compound of
- A)H2804 B.)HCI C.)Phenol D.)HNO3
% | UMTACLomeo GENSHD BEHe AUDILGHDE
A H2504 B.)HCI C.)dewmed D.)HNO3
Paracetamol dose is per day.(500 mg)
A)10 hrs B.)7-9 hrs C.)4-6 hrs D.)7-9 hrs
TSN oyemey IHTEN @ETMIHES (500mg)
A)10 hrs B.)7-9 hrs C.)4-6 hrs D.)7-9 hrs
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Correct
: Questio
W Answer
B.)Fever
A)C’wa C.)vomit - B
LLDITEV D.)Typoid
7 /ufﬁﬁ:—' -\B\~ G&Dmaéipg)
ST JBMUEg6) .
)/G'gafn is affecte to in the ex C.ums4) D)oL umi® B
e — Cess amount of paracetamol
A v . ney D.)E
AL LT 818 Sieey o | (e —— -)Eye
c Um]“ . RN STRIL_Ten
HEsLGEDS!
i B.)5606S 161 .
p)oums 60 . B
;):/a:’aodﬂ?‘d isalsoknownas = ——— CmifyaL D.)5e
inophen B.)HCI

ﬁf&%ﬂ[l.ﬁrrd) ) C.)H2S04 D.)HNO3 A
g TS SPEEIIGEDE]
p &L CLMBGeTmIss )y C.)H2504 D.JHNO3 A
~Anti pyretics medicine and effective against

A )Vomit B.)Calora C.)Fever D.)Sleeping dose c
Cailiufime> Srés TS SPILTE QFLeLEHDE!.

b B.)&mevpm C)BMiIEg e D)ENES LGHS | C
"Asprine formula

A)C9 H8 04 B.)HCI C.)HNO3 D.)H2 S04 A
2ierOLIfIE CLPV&Ea M) UMM

A).C9 H8 04 B.)HCI C.)HNO3 D.)H2 SO4 A
[ Aspirin molecular weight

A)183 g/mol B.)180.158 g/mol  C.)189 g/mol D.)185 g/mol B
2ieVIfien CLHCVE&ER M) ETEnL

A).183 g/mol B.)180.158 g/mol C.)189 g/mol D.)185 g/mol B

Melting point of Asprin degree celcius.

A)135 B.)140 C.)147 D.)150 A

2ieoniflen 2 (mGHaneo g &1 Q&0 ILIGTD

A)135 B.)140 C.)147 D.)150 A

Aspirin also known as

Q.C)_thyl Salicylic  B.)HCI C.)H2 S04 D.)HNO3 A
EESMIG] 215 SMPSGHLLG S

A SO L6 B.)HCI C.)H2 S04 D.JHNO3 A
&mellfledld

Sitfleuth

Bolling point of Asprin is degree celcius.

A)I60 B.)150 C.)140 D.)170 A

Sisoile QanE\Hien 6o lg &l GlFevaliLier

A).180 B.)150 C.)140 D.)170 A

l 4 i T
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‘.'/é' Aspirin an derivative of salicylic acid.
A)HNO3 B.)Acetyl C.)Methyl D.JHCI B
== [ sieonien CILUMISIEEN (FME01&16015 9iLblevLd)
A)HNO3 . B.)9IflenL60 C.fAwg&ed D.)HCI B
77| Who invented asprin?
A)Newton B.)Felix Hoff mann C.)Thomson D.)Raman B
77 [ S e-g SeuLjib el Wj?
APy 1L 63t B.JAUeN&6N QDL C.)GTLDF6H D.)JTLD63T B
GLo6u
78 [ Which year aspirin was invented by Charles Genhardt?
A.)1870 B.)1950 C.)1853 D.)1970 C
78 | 61h% Spen(p enjeverv L L Slerouljlen-g SeurLMibSHI)?
A).1870 B.)1950 C.)1853 D.)1970 c
79| Who invented salicylic acid?
A.)Thomson B.)Raffaele piia  C.)Raman D.)Piria B
79 | &men&lefls siflevgeng seuurLDibS el Wy?
A)BTLD& 65T B.)yriIumGeo Nl - C.)jmLosst D.)Aflwir B
80| Which year was salicylic acid discovered?
A.)1838 B.)1850 C.)1870 D.)1890 A
80 | #mefl&lafd Sibleoid 61hg <y 6vm(h Sevur(hLlig S&SLLLL§I?
A).1838 B.)1850 C.)1870 D.)1890 A
81| The molecular formula of magnnesium salicylate
A.)HNO3 B.)C14 H10 Mg06 C.)HCI D.)COOH B
81 | QIDGEHEILLD FMeVISIGEVL. (LpeL&HFam) eumLitum(y
A).HNO3 B.)C14 H10 MgO6 C.)HCI D.)COOH B
82| Molecular weight of Magnesium Salicylate
A.)298.533 g/mol  B.)300 g/mol C.)350 g/mol D.)400 g/mol A
82 | QO&EUZILILD FMEOIFIGEVL. CLPELSTa M) ETEML
A).298.533 g/mol B.)300 g/mol C.)350 g/mol D.)400 g/mol A
83| Magnesium salicylate is used to treat
A.)Joint pains B.)Fever - C.)Vomit D.)Calora A
83 | Qo&ei&uD FrelFlGeuL -3 GeILU(hSS LLaTL(hSImSI?
A pLBaued B.)BMLI& &6 C.)umhé D.)&TEVIIT A
84| Magnesium salicylate is knownas ___
A)H2 SO4 B.)NSAID C.)HCI D.)HNO3 B
8 | QDEFFILID FMe0FIGeVL 6160 SIOPSHHLLGHMSI?
A).H2 SO4 B.)NSAID C.)HCI D.)HNO3 B
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) et is the best pain medicine fo, Tooth painy Answer _
35 04 B.Magnesiym
aH2S salicylate C.)Hel
56 55 1 e °
e CBSTS g titgery &
0504 B.)AW& e85 '
we __EM60181Ceu)” C.He D.)HNO3 B
Aats the best medicine for back pain?
6 .
B.)Asprin
buprofen P C.)Cocof
M D.)Paracetamol A
A 056 VPO DS DELE e
yauss B)@ieviNifies A
g@c‘xﬂgﬂ) e C.\CanGamunsir D.)UMpTALLLOTEd | A
B T —
B.)C2 H5 OH
A)CHA : C)C13H18 02
SR CPOOEEa T UGy —— o 22504 Z
B.)C2 H5 OH '
A).CHA c)e
4 ToleeUar Weight — _ C)c13H1802 D.)H2 SO4 C
Aj206299/mol  B.)210 g/mol C.)217 g/mol D.)250 g/mol A
5T SILO06 CLOEIESaM) 6TemL
£).206.29 g/mol _ B.)210 g/mol C.)217 g/mol D.)250 g/mol A
[ Melting point of Advil
A)100degreeC  B.)90degreeC  C.)76 degreeC  D.)110 degree C c
7T SILeNle0 2- (BB /blsnev
A).100 degree C B.)90 degree C C.)76 degree C D.)110 degree C c
10| Adults casually take mg in every 24 hours.
A)1200 B.)1800 C.)2000 D.)2500 A
1| QUIILIIT&ET €26)Gl6UM(, 24 D6 GHIGEHME, mg Sleney
AR5 SIGCSTETATEONLD
£).1200 B.)1800 C.)2000 D.)2500 A
3| Sodium salicylate formula
A)C6 HB B.)C7H5NaO3  C.)C2H5OH D.)C6 H6 B
| GamguID FMeMAGeL CLPEVFH&a M eUMLILILT(D
A).C6 H6 B.)C7 H5 NaO3 C.)C2H5OH D.)C6 H6 B
| The molecular weight Sodium salicylate
_{A)180.11 g/mol  B.)170 g/mol C.)180 g/mol D.)190 g/mol A
2| Gemquin FMEVIFIGEVLIq.607 PGV SEaM) ETEL
_|N160.41 g/mol B.)170 g/mol C.)180 g/mol D.)190 g/mol
%\ Sodium saficylate in the sodium salt of acid.
—MSalicylic B.)Sodium CHCI D.JHNO3 A
B | CETIOE sreoETCeor qeLIE) Ca gD 2.1 SID0ESE0
| wstang 8l
LNEneaiens B.)G&MgLILD CHCI D.JHNO3 A
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Questions Angwier
o Solicylate soluble in T
I

B.)HCI
) C.)Glycero D.)H2 SO4 -

3
.)HNO a0l
A - D gmevl L ———— 0 GnAingy

B.)HCI c
NO3 . C. i JH2 S04

A;:dium Salicylate used in medicmm\msmmnm &

gesic and B.)Vomit

=
>

N

<N

nal C.)Fever D.)Calora 4

u reﬁc v v
Wmacw_ DGHHTE LILFTUHHDE.

A)almlgbggm’ B.Joums4) C.)BMiIF&60 D.)&TeUT A
w%%l auflig &

%ﬁiu‘l?n's—ali’cﬁte alsoactsas____
a)H2S04 B.INSAID C)HCl D.JHNO3 B

Wmacmum 2_grengy

12504 B.JNSAID CHCI D.)HNO3 g
W Sodium salicylate is

A)400 degree C B)300degreeC  C.)200 degreeC  D.)250 degree C Cc
Mg LD ¢ FTeM&lGeVL-60T 2 (HGHlemev

4).400 degree C B.)300 degree C C.)200 degree C D.)250 degree C c
The molecular formula of Nibumentone

A)C15 H16 02 B.)C2 H5 OH C.)C6 H5 OH D.)HNO3 A
WWMGLW CLPELGFaM] eUTLILILIT(H

A).C15H16 02 B.)C2 H5 OH C.)C6 H5 OH D.)HNO3 A
753 [ The molecular weight of Nubumentone
A)350 g/mol B.)228.20 g/mol  C.)250 g/mol D.)300 g/mol B
7 | AT GL 6T CLP6L &Fa M) 6T6ML

A).350 g/mol B.)228.20 g/mol C.)250 g/mol D.)300 g/mol B
10| Nubumentone was developed by

A.)Smithkline B.)Thomson C.)Raman D.)Newton ‘ A
Beecham

;100 BLASIGL 601-g3 enpleyLIBSSILIeUT Wwimy?
Aol & erfledr B.)&MLD&6H C.)JmLO6HT DRI, L 66T A
_|damid

05

&)\

8\

e

T

>
=

8| ¢

Unit 4

Correct
. Questions Answer

' Corrossion is a natural process that converts metal to this
b )0xide B.)Sulphide C.)Chloride D.)Nitrate
! | 2 CRTEmET GLDmELTGEGa Hegl AYILDU

i ] c.)gCemmsny(® D.)mBLGL A
Nesme B.)&e06OLI® ¥

SMEMLIEHMDS).
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WA Jaitor™ eorm gy —I\corrode
1 rmly »)unun fOfmly C
/\)U“g,o"& 6w DIl )Surface D.)Inner A
AT . O DG
g B) &M C Bl ' , A
/JAz;orroslon forms af: __)7 JSelDDUGEH D.ye_enGen
' C.)s
AP Gl UG D)2 -
e el — ameeoR
,{W BT\\ Goenne, 2_616Ng).
i Wrosion Is an \C)B D.)2 B
1] nemical B.)Electro C)M
AlC chemical Vetal D.)Non-metal o
L
s sy T
JTGe0 &1 .
poa ' Qg,@é-,;’d';c'm C.)e-Ceormaid D.)2iGeoraid B
qmﬁsmn form in the meta]
I B.)Surface
| [a)Holes C.)Inner D.)Outer A
LG SIUY g egemn .
7 gg')u(l}ﬁvﬂ@ﬂ)ﬂ- BEUSMG 2 Coonagae0
N L BT BGpUES) C.2_eiGon D.QeueG A
/e’ﬁ'e'vi'c? corrosion, refers to the localizeq attack on
ANaoH ; B.)Non-metal C.)Metal D.)NH3 B
AL G EEED CLODUGE ST gHUGEaDaE.
A)NaoH B.)2iGeunaLh C.)2_Ceumsih D.)NH3 B
'T'T)Tﬁn-ks prevent the corrosion coating
A)Surface B.)Inner C.)Outer D.)Cap A
7] aameel S6V6NT &6 JFINenL &HEs -0 UEHL UGS mg)
ACLHUGH B.)2_6NGen C.QsueNGu D.)eLplg UN6d A
8| Which pipe in best for hot water_____
A)CPVC B.)Iron C.)Plastics D.)Soil A
1| apg Ul &GD) 2 LCWTELEES SDhss).
A)\CPVC B.)&@(mLbY C.)Menmervig & D.).o6gor A
§| Stress corrosion in the growth of crack formation is a environment?
A Plastic B.)Iron C.)Crossive D.)Soil C
ool &Qagﬂu & MIULDEF FLPevTeD Gleug LenL
snga SBIADG!.
A lemmerolg & B.) @by C.eiflLiy D.)Lo6gor c
0 Who s the father of corrossion science?
A)Ulick R Evens  B.)Thomson C.)Raman D.)Newton A
B e
Uy Geuglilwiellen &mbeng wWimijeo?
NUOE R Geuctterv B.)G TS C.)JmLo6Ht DR L6 A
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z Correct
Vm etk
g p B.)5 Ca
V, WD_ 14 c
” o o - Disener Jum_,@w%_
6 ; \
VA;-;EMMOmea Cu D)7 c
i B.)Fe A
/M i =
f 3 UM s garEai
i"f’——m;- 21860y C-)Nac:.:GB og'im A
] Vechicie paint made of  Suiphas 2
\Barium B.)Sodium
C »
/%ﬁs’iﬁlﬂm \mﬁﬁ\_‘ D)NH3 A
€ 5 )c“‘ &) 2 Gam&stor L g
? )M!IJ K &m%lULD C.
ﬁ"m, vemed paint__——— Na DNHS A
B.)She;
A )RamaN Wit mr;nn C.)Thomson D.)Newion B
T e & (h1l.55eufy Wy
| nDsH B.QA& e skt .. .
N Qj]g)g%]mmm C.)smbssi D.SLLr L sir B
f intemior wall paints are ___ types
AR i C¥ D.)10 c
T;"“‘,,my' GOWJ USRS qimasg 2_enangy.
W9 BB C) D10 c
75| Vamish made from resins
- |ANatural B.)Metal C.)Fe D.JNH3 A
Tlameee____ Qpilaisenmeo 2 GeUNTEaLILL L gy,
» QDS B.)2-CGeorsid C.)Fe DJNH3 A
17| Polyurethan molecular formula ?
A)C6 H5 OH B)C27H36N2  C)CH4 D.)C2 H5 OH B
010
17 | UTeD NGB aT CLPEV&EFam) euminun(y
A).C5 H5 OH B.)C27H36N2010  C.)CH4 D.)C2 H5 OH B
18 Polyue!han molecular weight
_|A)488g/mol  B.)550 g/mol C.)560 g/mol D.)570 g/mol A
1 | Uy yCE 6ot LY
A).548.6 g/mol B.)550 g/mol C.)560 g/mol D.)570 g/mol A
3| Polyurethan products derived from ol
__|ANon-metai B.)Metal C.)Crude D.)Fat c
% mm [Qumr@Lsen sTauGlemnLe0 B)(H5Ha
M.
N2 Conrsid sisheong ye Ceonsid C)a&&m D.Qsmpiny c
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Ques; Correct
. ons e
) B.)350 d
2| 0 degree X Sgeek )
AT BICes™ &-GEHme 330 degree D.)380 degree K -
16 K B350 degran &
V| 470 degree 1950 degree K
A 2!7)' Zihylene molecular formuia C1330 degree k D.)380 degres K .
p ——
i 4)n B.)C2 H5 O
2H C.)CH4 A
ANC .
o0 apBINT WG Iy iy i
7! B.)C2
2 HA)N JC2 H5 oy
W binder clip? C.JCH4 D.)C6 H5 OH -
7 5 )LouiS g.Baltzely B.)Ruther fort C.)Raman Ocoond A
fap &N LTSS Se g '
e EUM_Gev B.X5&i Cumij@ ) ..
QJ'“’ C. A
Was been manufactuing ;06T D.)jalji)
p)Australlia )Srilanka C.)India D.)Africa A
———,__ ~JNda ]
5 - eEE QUSTILD 6165 I igeo 2 HUE A QLG Bms).
LCIOWT  B)@eorusms : 1
ATV C) @b S D.)ey I && A
24 Wﬁ manufactured factory Lo N
p)india ; B.)-Rockolea C.)Russia D.)Africa B
T e A R -3 1, 1 -7 7 Ty SLMTISSULG A,
A GBI B &G meon C.)yeiowim D.)eylIflésm B
7 L atex paint factory located at,
A)Russia B.)India C.)Srilanga D.)America A
= TR &6 eueTT ABTADHETenen DL Iq,60 2 eneng)).
pyeQLIT B.)@BSwm C.)Qevmiena D) A
%[ pH value of Latex paint?
A0 B} C.)9 D.)7.5t08.5 D
7 | OMEIL&6 6UIJE0TS Sl6ur pH LOEIL|
A).10 B.)8 C.)9 D.)7.5t085 D
77| Who invented polyvinyl acetate?
A)Bricks Landay  B.)Thomson C.)Raman D.)Taffa A
uredlenlemenrey IFIGL L WwWmymen &6v1(h g &L L g7
ABfl&ero eonrGuGL. B.)\Gmib&str C.)ymoedr D.)LmGu A
28| Polyvinyl acetate molecular weight?
A)100 g/mol B.)90 g/moal C.)95 g/mol D.)86.9 g/mol D
uredleNeneued HFICLL (Lpe0&en) sTamL
A).100 g/mol B.)90 g/mol C.)95 g/mol D.)86.9 g/mol D
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/29’ polyvinyl acetate molecular formula Answer
60
L ﬂ% P;m “ﬂ:‘m B.)C2 H5 OH __CJCBH50H  D)CH4
2 | Ul HNICL L ne0dan p eumin(y
S V2 B.)C2 H5 OH C.)C6 H5 OH D.)CH4
~730| Density of polyvinyl acetate
A.)1.19 gicm3 B.)2 glcm3 C.)7 glcm3 D.)8 g/cm3
30 | Umedleleneted SISTCLL oo SILFEE
A).1.19 gfcm3 - B.)2 g/cm3 C.)7 g/cm3 D.)8 g/cm3
31| Synthetic organic pigments are derived from ?
A.)NH3 B.)Coal tars C.)NaoH D.)HCI
31| &b CSTEUY Rmepigaer OupULGEamsE
A).NH3 B.)GaITEL Lmijery C.)NaoH D.)HCI
~32| Example of organic pismath is
A)HNO3 B.)NaOH C.)HCI D.)Alizarin
32 | &l HIMLDISEhH&E 2-FT6uD
A).HNO3 B.)NaOH C.JHCI D.)oie0\&1f6tT
~33| Plant pigments name
A)NH3 B.)Flaonoids C.)NaOH D.)HCI
"33 | Bmeuy KOG En&E 2_giyeuuid
A).NH3 B.)UGenmsaimi_e®y  C.)NaOH D.)HCI
~34| Chlorophyll molecular formula
- |A)C55 H72 05 N4 B.)NaOH C.)HCI D.)NH3 A
_|mg
34 | GLamGhLley (6L SEa M) eUMILILT(H
A).C55H72 05 N4 mg  B.)NaOH C.)HCI D.)NH3 A
35| Cholorophyll__ metal
A.)Copper B.)Calcium C.)Zinc D.)Magnesium D
35 | GGenmGymuley 2_eem 2 GeumsLd
A) ST B.)&MeLAwILD C.)0Im& D.Y&efalid D
36| Good paint essential '
A.)Durability B.)Cold C.)Heat D.)Nice A
3% | HeV6L QUITETILILLE &G SleuliLILDmeTg)
A QB BRISTeVLD B.)@eaMyms C)EHLIS Q(mGHEL D.)eTenwwng | A
(3] 5860
37| Enamel paint are based
 |A)Akyd B.)NaOH C.)NH3 D.)CH4
37| eTewmLoed euewiD Sllg LLENLILIIE0 26N,
A)Si06n & D B.)NaOH C.NH3 D.)CH4
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/3'8' Enamel paints are traditionally based
ANH3 B.)Oil C.)Fat D.)NaOH B
38 | ULQMISTEOSGIGTL L eteorminen SUTERILILL & & &6 Sl LIUML W60
2_6TeNG).
A)NH3 B.)eTesmQ\6mumii C.Aampuiy D.)NaOH B
39| Acrylic car paint is always based
A.)Water B.)OIl C.)Fat D.)NaOH A
39 | SIHU160\S &MY euljemin - Sl DULITIEO o eneng,).
A) Geusnily B.)eTetni\stunii s C.Qampiy D.)NaOH A
40| Latex paint are based emusions
A)Fat B.)Acid C.)Base D.)Water D
40 | QONGL&E eufemmigen SlqULIENLUTIEL 2_eTengy. -
AQampLy B.)@iLBle01b C)BMLD D.)5 evtenfly D
~ 41| Enamel paints are aiso good work,
A.)Wood B.)Chamber C.)Soil D.)Vechicle A
[ 41| 6TENMTLOGY euijeuurmigen -60 [HeTTMITE 2_6Teng).
A)LD&&L_6mL B.) Q& RIS C.)Lbetur D.)eUT&eurLd A
| 42| Whatis the best kind of paint for metal
A)OIl B.)Acrylic C.)Acid D.)Base B
42 | 2Geons5SneE 2 [l V6V QUMSILITeoT GUIJ 6V RIS 6T
A) 616501 GTTLL | B.)31&OmeNS C.)9ifievLd D.)&MLD B
43| Which colour is soft colour in paint?
A)Black B.)Red C.)Green D.)Yellow D
43 | eujemigetled ClDewemDIWLITenr BIMLD 61817
A) &L B.)fleuliyy Cu&me D.)DEh&eT D
44| Paint has
A.)Solid B.)Gas C.)Liquid D.)Gas-Liquid C
44 | euljeuuimisafieo A©58ms
A S B.)eumu C.)BijLoLd D.)eumy-Biioid C
45| Write one largest paint company in India
A)Nestle B.)Cipla . C.)L&T D.)Asian D
45 | @hETeeo 2_een iUl eufeva CIZMDIMEF MmO GlUwy epetremm ITETS
A).Nestle B.)Cipla C)L&T D.)Asian D
46| Alkyd paint based
A)Qil B.)Fat C.)Acid D.)Base A
% | svma®H eufewid s e Lm0 2_eneng
A) sTEomQ6waTLL 1 B.Jo&m(pLIL C.)slLbleuLd D.)SNIJLD A
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~37| Alkyd paints__hours settieq Answer
A B.)6 cy D)8 5
LENG ] v
| o b eulpemiriger §THSEMETT LD 6T GHISE Lig Az,
A9 B.)8 cy7 D.)8 B
48| xylene molecular weight
ANOB16 gmol  B.)100 gimol C.)110 g/mol D.)115 g/mol A
18 | FlWevlem W& 8a M) eTemL
A).106.16 g/mol B.)100 g/mol C.)110 g/mol D.)115 g/mol A
T49| Xylene molecule formuia
_ A)CH4 ‘ B.)C8 H10 C.)C2 H5 OH D.)C6 H5 OH B
49 | &WweOler (G LV TISYINNTIT ()
A).CH4 B.)C8 H10 C.)C2 H5 OH D.)C6 H5 OH B
50| Xylene used as a
A.)Solvent B.)Acid C.)Base D.)Oil A
50 | &wiedlewr LwieL (b &img)
A) SenLILImesT B.)&iLblevLd C.)&MLD D.)sT6our Q) GwurLi A
51| Synthetic polymers one example
A)NH3 B.)Nylon C.)NaOH D.)HCI B
51 [ CIBTGOY UeoLIg &, (6 2 STJ6IILD
A).NH3 B.)6m eV T6HT C.)NaOH D.)HCI B
"~ 52| Synthetic polymers another example
A.)Poly ethylene  B.)NaOH C.)HCl D.)HNO3 A
752 | CIMGLUL UevLIG &G LOMCIMT(H 2 &NyemLD
A0 15 &e0l6T  B.)NaOH C.)HCI D.)HNO3 A
53| Which one is synthetic polymer
A)HNO3 B.)Polyester C.)NaOH D.)HCI B
53 | CIBMGLIL LeVLIg.&(@ LHAMT 2 Fjemin
A).HNO3 B.)umeSleroLiy C.)NaOH D.)HCI B
54| Select one synthetic polymer
A)Teflon B.)NaOH C.)HCI D.)JHNO3 A
% | U§T@UL Lol & LDHADT(, 2 HTj6wiD
A) QL Lisoedr B.)NaOH C.)HCI D.)HNO3 A
35| Which of the following one is synthetic polymer_____
A)JHNO3 B.)NaOH C.)HCI D.)Epoxy D
% | WSTGUY UL &G LOCIDT(H 2 FT6uoILD
A)HNO3 B.)NaOH C)HCI D.)FUN&S) D
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_;5‘ Natural po!ymers\based —Answer
A)Base B.)Acid CIW. .
v .)Water D.)Qil c
71 QWMsMSILITe & e v v
G _@fﬂ)‘ UneOlLofae 3l IUSHLITIED & emengy
&“‘ T . -
,_,ﬂ UU‘J ____Blabeoid c.8i D. TSmOz c
57| Naturally occuring polymer one example is
g %Slu‘Tk = B.)Acid' C.)Base D.)Oil A
7 .!D W6 SienL&@in UNeOIOTEEn&6@ @ 2 &jemb
ALL® _ B.)eifeuLd C.)&MLd D.)T6t0rQlmomi A
58 | Naturally occuring polymer another example is
__|ABase B.)Silk C.)Acid D.)Wool D
8 | QuDmsLTen SOLEGLD UTILDI&(EhE® DA 2 &jeuiD
A) ST NI C)eiLfeotd D.)&Lbuef D
59| Naturally occuring polymer another example is
__|A)HNO3 B.)DNA C.)NaOH D.)HCI B
9 | QUDmELTST Sl GG UTEOLDT&(E & LMD, 2 SNjsID
A).HNO3 B.)DNA C.)NaOH D.)HCI B
60 Naturally occuring polymer another example is
A.)Cellulose B.)NaOH C.)HNO3 D.)HCI A
50 | @uWbenaimer HML&GLD LITeOILON& @ & LomGm(s, 2_SITJEwILD
A)QFDQICMeY  B.)NaOH C.)HNO3 D.)HCI A
61| Naturally occuring polymer another example is
A.)NaCl B.)HCI C.)HNO3 D.)Proteins D
51 | QWDMSILITET G &G0 LITeOILON& @5&E DHAMT(H, 2 G ijewin
A).NaCl B.)HCI C.)HNO3 D.MUQI&I&G’H D
62| Write one types of synthetic organic polymers
A)NaCl B.)Low density C.)HCI D.)NaOH B
Polyethylene
62 | LIFEWMMS SHILD LI Lilg QUENE 6D (5.
A)NaCl B)SIL&S) C.HCI D.)NaOH B
GMObS
LmedleT ediett
63| Write another types of synthetic organic polymers
AMighdensity  B.)HCI C.)NaOH D.)NaCl A
polyethylene i
8 | UBTEUY &HlLo Lisv Uiy 61ena epettenm &(Ih.
AL T&8) B.)HCI C.)NaOH D.)NaCl A
5“2{19!59 .
LmeleT& Sedisir
8| Write another one types of synthetic organic polymers
A)NaCl B.)Polyprophylene C.)HCI D.)NaOH B
1 U8M@UL SHILD L Ll eUens HADTSIenD &(055.
4)Nac B.JumeSLCymsmLIedsHt C.)HC! - D.)NaOH B
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o Questiong Correct
5| Write another one
5| W1 P8 ofsynthetc organi Polymers —Answer
A.JPolyvinyl B.)Na
chloride HaoH C.)Nacl D.)H2 S04 A
il T&uy &
% | PBTOUU Sl ey U4 Cuena oy DIETIND & s, T
AUTeNeneney B.)NaOH
Cenmen C.)NaC| D.)H2 S04 A
66| Write another one types of Synthetic organic polymers
B adll B.)NaoH C)Polystrene D yHNOS c
6 | CIBTEUY &l HOLY 4@ o DI &L 555
_|AHa B.)NaOH Cumedevl st pyHNOS c
67| Write another one types of synthetic organic polymers
ANylon ' B.)NaOH C)HCI D.JHNO3 A
57 | VBTG &Hin Ue0LIG @& BHIDTG erenaemi 505
A) snmeometr B.)NaOH C.)HCI D.)HNO3 A
68 | Write another one types of synthetic organic polymers
A.JHNO3 B.)Teflon C.)NaOH D.)HCI B
68 | Clgm@Un &1ILo Leouiq & LOCDTE cuen s 5.
A).HNO3 B.)CLlevmer C.)NaOH D.)HCI B
69| Write another one types of synthetic organic polymers
A.)Thermoplastic B.)NaOH C.)HCI D.)NaCl A
urethanes
69 | CemEy S LeoLIg & LODTE UG 5(55.
A_\).Qg,l’}errmsum'mq B.)NaOH C.)HCI D.)NaCl A
& .
"70| In polymerisation Chain reaction is also called
A)H2 SO4 B.)Addition C.)NaCl D.)HCI B
polymerisation
10| UL UIT&&60 H&eiled Fmigieo) alleneur _— eTem
AMP&SLLGHEma)?
A).H2 SO4 BIUOLWTEEE)  C)NaCl D.)HCI B
Fal_L60 elemenr
71| The word 'poly' means
A)Many B.)Bad C.)Speed D)oil it
T | ‘Umeol eT6a1m) QI&F 60 e0T6ar ClLIm(m, 6
A)LIGY B.)CLON&LONE C.allengeauns D.JoTeumlswml A
12| The word 'Mer' means .
A)Fat B.)Parts C.)Speed D.)Bad
12 | "CIoI}' 61631 Qg me0 606w GlLm(m e .
L 2 . 5
A)Q&lr@l]u B)UGHS6T C.)allengeuns D.)GLOT&LDIT
13| Apoplymeris a molecular A
C.)il D.)Fat
A.)Large B.)Small . i
1| @ usog — UPROEEDUGENTE) S5 . A
! So Q6oL D.YAam(puiLy

Scanned with CamScanner



i’ MR AL '"E RAJAHIS COLLEGE
,, (RuTonOMOYS)
/ PUDUKKOTTAL - 627 00y
NOV 2019
_— Unit 4
g Questions Correct
e ——— S
A JToo low B jLow ‘
b C.JToo high IHi
| DR H JET5Eema = o'
#1185 @mmey B)@onmey " .
3| Polymers have : - C105 sifisid e =
’ “——— boiling points
A JHigh B.jLow .
_ , C.)Too high D.)Too low
P | UL Wien & @ aEione)
#2850 B iB@mey #5id
- C. bz
5| Polymers are made for = DATE Sy
: Al;*’g‘jc‘ B.)NaOH C.JHCI D.)Monomer
b Uig 5T D7)
A)N2Cl 8. )Nz0OH C.JHCI D.X2(HUlg D
7| Polymers one mzde from monomers finked by,
A fChemica B.JHCI C.)N2OH
. ) D.)NaCl
7| UsiLisEeT 2 mams CeeoLons GLonCamojea GaneussiuGana.
A) Bnsmuss Nenesmiig JHC! C.JNzOH D.)NaCl A
3| Polymers are high
AjGzs B.)Strength C.)Coid D.jHot B
V| usdugEen 25505 2 enLWig).
A)sumuy B.pusiiento C.rzafy D.)&Lneng) B
3| Polymerszre
A JLow cost B.)Low Temp C.)Low melting D.)Low boiling A
point point
UL Ea 2 nLIWIE)
ABoDE5 ellane) B yEam Qaliufime Cgamnks D.X&MMHS A
2_(TEHM0 Qan&lmsnsy
Polymers are property in general
AJNzOH B.JHCI C.JHydrophobic  D.JHNO3 C
eoLng __ usmLaendaT dumgiauns Uaneam(penansy).
&) NaCH B.)HCI C.&7 Qeumuiny D.)HNO3 c
s are not considered {0 be oolymers
A Lipids B JNzOH C.)JHCI D.)HNO3 A
' UL LTS S&(HEUUL DML L 15,
21600 gy 8. )N2OH C.JHCI D.)HNO3 A
Z DNAB 23
A fGas B.)Polymer C.JMonomer D.)Soid 8
tONA @@
_Memy B ueLy Crebug D.)5wLoLd B
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, . Questions Corract
M Answer
A)Polymer B.)Monom :

RVA 96 - D.)Gas A
\
A)Leullq B )@@um T
" C.)8\evmioLh D.)eunm A

0| Srchlsa__—————>2F  Cy Iy

A)Gas B.)NacC| CNH

v ’ JNH3 D.)Polymer D
T CINH3
B | OOLNE eTeviiig,
| 23 B.)Nac CNH3 D.Je0LIlg D
85| Carbohydrates are

A JMacro B.)NaCl C)HCI D.JHNO3 A

molecules
“85 5rr|](2un6mgml'_(:m;ass'n 6TEUTLIG) 24GLD.

A)QuIfliL Ligb gy B.)NaCl C.)HCI D.JHNO3 A
—__[CLpeV&Famisen = )

86 | Write one example of carbohydrates

A)H2 SO4 B.)Glucose C.)NaCl D.)HNO3 B
86 arrg(:urrsm,m_n)u‘.?m_as@es@ P0G 2H1)6ID &(Hs.

A).H2 S04 B.X&EHCaHmerv C.)NaCl D.)HNO3 B
87 | Which one is carbohydrates

A.)Fructose B.)Nacl C.)HNO3 D.)H2 S04 : A
o7 | sMGuTe L G g6 LODEIMT(®, 2_gijemin 35S,

A)Ip&CLmero B.)Nacl C.)HNO3 D.)H2 SO4 A

88| What is another name for polymers of carbo!. trates?

A.Monosaccharid B.)HCI C.)NanH D.)NH3 A

es —

88 | sMGUTmAMLGIL Lol uSleT LDM" )T, QUL eTeamenr?
A GLIGeaTTeT&amy(a®.)HCl C.)NaOH D.)NH3 A
89| Streriods are composed of four faced — __rino likes structures

A.)Carbon B.)Sulphur C.)Crpper D.)Nickel A
8 | VRDMUL 6T6TLS) Hrei G GENBS eIl L eulgey SienLoLy

A) SITLI6HT B.)FeuLiy C.\&mLUILI D.)f\&&e0 A
9| The human body contains natural polymers iri |

A)Acid B.)Proteins C.)Fat D.)Qil B
0| Loarls 2 L D0IeD EUUDENSIING 2 erie 6oL,

AlSiBevLd B.UJSLD C.)AsmEpLILY D. JeTetmrGleuumiil B
| The elasticity of the rubber is due to its___ s

A)Base B.)Acid C.)H lix Dojfet
"1 piufle QpapER UG Img). ' 3

A& B.)oiLBlevLh C amedléeny D.fsmpin

-
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X L v - Questiong
Py Cis,poly isoprine Is present ip Correct
0 R Answ
Hevea Rubber  B.)Rubber CIHGl
/ . T 2.Tibngy
pfoun 1LY D10y C.HCl
-coprine in natural rubber exjstg ——————JHC
A Tsoprin I exXists in - D.)NaOH
» A')4p B)3 ———9eometrical isomerio form -
‘ : C.)2
¥ penengl. T AN DIYHiLDTs
A4 B)3 Cp
g’ﬁﬁ%ﬁﬂdecma\r formula\ : D)5 c
A)[C5 H8In B.)C2 H5 OH C)C6 H5 OH
. . —_ - D.)C
| OIS OSSR QTG i .
HEIn B.)C2 o
A )C2 H5 OH C.)C6
55 Tsoprine molecular formula JCOHS O D084 A
A)CH4 B.)C2 H5 OH C.)C5H8 D.)
v v 3 .JNaOH C
T | BEEMTLIIET CDE0&Ea My eumitin(y
. _Alcj4 B.)C2 H5 OH C.)C5H8 D.)NaOH c
95| Polystrene molecular formula
AICHE  B)C8HEn C)C2H50H  D)C6H6 B
T6 | LMeDGTOLG6H CLDEOE Emv D) eUTIIILT(
A).CH4 B.)[C8 H8]n C.)C2 H5 OH D.)C6 H6 B
97| Valcanization is a process ‘
A.)Chemical B.)Biological C.)Heat D.)Cold A
o7 | GLMGEL eomwiev HOLAUMIFDE).
A) GCeuduuied B.)& Meuyeiliied C.)aleuliuid D.)\@efiy A
98| Rubber contain chemical
A)Buna Rubber  B.)Gamma Rubber C.)Soft Rubber D.)Hard Rubber A
98 | guunplev Geuslwley CILT(mET 2_enang).
A) WL 60T LI B.)&MLOM [LILIY C.JALDGTENLOWINEST  D.)SIg.691 [LILIIT A
guuiy
99| Rubberis another chemical
A.)Hard Rubber  B.)Neoprene C.)Gamma D.)Soft Rubber B
Rubber
9 | puurlev GEUSIINLIEL CILIT(HET 2_6T6Tg).
A) Slg.6 LIy B.)BGwImLif] ar C.)BITLOM UL D.JALoedTemLowimesr | B
ULy
100| Adhesive also known as
_ |ANH3 B.)Soil C.)NaOH D.)Cement D
100 | OI&leon S| iMNSSUL(HEDF.
A).NH3 B.)LD60T C.)NaOH D.\AICLD6TITL D
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father of cementy Correct
din B)Dal Answer
Aspedin B.
ik alton C.)Tafe i
60 SHENG W7 )Newton A
| 160 681 BL_eby_giy cILnC
e owner of the Ramco cements STl D)L L 6T A
B.)Ramasubram :
] \ya Raja M C.IDalmia D.)Muthaiya B
L §ILD6BTTI, 65T I w7
B.)JmO&nN0 : .
DL TOERIL  CLmebiBwr D.XPHEnSWIT B
fion of concrete mixer is
a2 B)2S C.)35 D)3 A
I L SO cgEn
P«)ﬁ‘4 B.)2:5 C.)3:5 D.)36 A
f/Qll‘a;ntitY of soil in one bag of cement £
Ny B)S C)6 D)4 D
f”@@ ELAL 6L &CILDETIIG DG LD6TIe0\6H 2166
AT B)5 C)6 D)4 D
5| The cement contains
A)Lime B.)Soil C.)NaOH D.)HCI A
| &lklevmL Cl&mevTla. (h&HMSI?
A) SETUTGUOTTLDL B.)LO6TITEL C.)NaOH D.)HCI A
6| Which equipment is used to test me setting time of cement?
A.)pH meter B.)Vicat apparatus C.)Calori meter D.)UV meter B
5| AL BGAIGTHNEN GHISMS GETHMeN Q&L &BeNTen GLILIT
6T60T6UT?
A)pH BL LT} B)meusnl el  C)sCeomfl By DUV WBLLY] B
71 What is the initial setting time of cement? i
A.)30 minutes B.)60 minutes C.)90 minutes D.)45 minutes A
7 | S\CIDGUL B\ GS60I60 ZYJLDLI &HTED SIET6 ET66u?
A).30 minutes B.)60 minutes C.)90 minutes D.)45 minutes A
8| Ferriteisa
A)Fluxing agent  B.)Oxidis agent ~ C.)Reduces agent D.)Bleaching A
agent
8 | ~CluengL eteuiLg)
A)Nen&& M B.)a158@Camm  C.)pG&EWD D. YA eueamenLowiT&SLpA
gL 6L ean?‘l’m SIyewi ST y6uil
9| Cement also contains
A)HCI B.)Sail C.)NaOH D.)Silica D
B KArnarey AmEEDS.
A).HCI B.)LDGG C.)NaOH D.}ReO&T D
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Correct

Cement also contains

C.)HCI D.)Soil

nsyier__

&ID&g 60 - GEHDG.
A) SIbieeT
Cement also contains

C.)HCI D. po6tm

B.)Iron oxide
&ICILD6TTTIg 60

C.)NaOH D.)KCI

B.)@mby 256m8® C.)NaOH

D P GEH DG,

D.JKCI

The Lime chemical formula is

C.)NaOH D.)Ca0

Silica chemical formula is

[ &EETAIMLOL-68T Coudliico eumuuun(y

C.)NaOH D.)Ca0

Alumina chemical formula js

C.)NH3 D.)NaOH

.;\

C.)HCI D.)NH3

~aIleTT Geudluiluieh Wv&gam eumiiun

=1 chemical formula of Iron oxide

————

C.)HCI D.)NH3

C.)Fe2 05 D.)NH3

o

Sulfar tioxide formula is ___ -

C.)S02 D.)NH3

| #0UT DTS4 EE (H-60T CLPEVEEam) eumuuun(@

C.)SO2 D.JNH3

7| Formula of Megnesiam is

C.)ZnO D.)MgO

| CwdalFiug St CLeV &SR M) eUMOLLT (Y

C.)Zn0 D.)MgO

Tri Calcium silicate formula is

B.)3 CaO Si02
8] STOFIID S1e01CHL CLPELS

C.)NaOH D.)H202

B.)3 CaO Si02

Ga M) eumuium(@?

C.)NaOH D.)H202
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19| Di calcium silicate formula is
A)2Ca08i02 B )NaOH C.)HNO3 D.)H202 a
9 | L BTG SeoCaH Wessa M eumOuu(y =
A).2 Ca0.Si02 B.)NaOH C.)HNO3 D.)H202 A
20| Tri Calcium aluminate formula is
A)3Ca0.A203 B.)NaOH C)HCI D.)NH3 A
0 | ¥eoy E&revd LD SIVIDICear We&Fa M eumOoun(y
A).3 Ca0.A2 03 B.)NaOH C.)HCI D.)NH3 A
1] Tetra calcium aluminoferrite formula is
A)Cacl2 B.M C.)Ca0 D.)NaOH B
Ca0.AIZ03.FezO
3
1| CLpm sTe0&MLD SIVIDGeTT QU657 UWeL&Ea M| eumIOUT(E?
A).Cacl2 B.)4 Ca0.AIZO3Fez03 ¢ )Ca0 D.)NaOH B
2| Density of cement is
A.)3.15 glcm3 B.)4 C.)6 D.)8 A
7 [ HICILD6TTIG 63T SILJEE)
A).3.15 g/cm3 B.)4 C.)6 D.)8 A
3| Which type of soil is best for planting?
A)Loam soil B.)Red soil C.)Sandy sail D.)Alluvial soil A
3| CIFIg&6T MQULLSDES 6Tha 61N ILITeN 6T FIDHGHSI?
A) S61fl LD6voT B.)Q&LDLOGTIT C.)&4Mm) Lowmed D.)66TIL_6L LD6TH A
4| LoamsoilpHis
A)10 B.)6to 7 C.)8 D.)9 B
i] aenloevorswoleor pH o1 5 @(r_r,ésé%lmgu.
A).10 B.)6to7 C)8 D.)9 B
5| Concreteuses ______ cement.
A)White B.)Soll C.)Red D.)Portiand D
5| GNEE L eTeTLIZ) SICIetn g1 @D
A)Qeuetenenr B.)LD6uor (oL TWTH| D.GUmjLeomesoi. | D
B| Steelis an alloy of
A)KOH B.)lron and C.)NaOH D.KCI B
I Carbon
TS 2 Coons Hevsnel
. . B
A KOH B)@ (0L bmMILD  C.)NaOH D.)KCI
SL6oT
U SteeT has low A
A)Cost B.)Melting point  C.)Low density Dé)iti"” bolling
o p
-8 BMDHS :
Al C.)GOMHS D)&DDHS A
mey B.)2- B Hlsmev P QardHeneo —
L\
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wn/wjzse metal of \\\ Answer
: B.)Copper :
W Sllg 2 GeOnam R
& B.)&mliuiy o
A)@Iﬂ : C,)é'lmmg D1
\\ . e
Zaniess steel differ from carbon steg] by amount of T L2 D
ini B.)Chromiu - '
A-)Alummm.m m C.)Zinc D.)Copper B
(36 BIILT 15 QGBS ooy Cap g
AIPDLLD 8 )6 Cympuuy C)edriés D)L B
75[ ronis a good conductor of ] ikl
A.)swr'ud B.)Electricity C.)Water D.)Heat B
A BGOY___ Teamns SL5818mg.
NG B)D\ir&mLh C.)Bi D.)YAeuliutb 8
57| The melting point of pure iron is
A)‘1§35 Degree B-)l1 800 Degree  C.)1200 Degree  D.)1900 Degree A
celcius celcius celcius celcius
7 | G55 BGO06T 2 [ GHemeo
A)1536 L. &\ifl B.)1800 Lo &) C.)1200 1g.&\if) D.)1900 g &ifl A
Qg Hweny QFeL&IeN Qa6 AliLiery QFeL&IEM
32| Boiling point of iron is
A)3000 Degree  B.)4000 Degree  C.)5000 Degree D.)3500 Degree A
celcius celcius celcius celcius
32 | @@ LNeT Qanahimeo
A):3000 1g.&) B.}4000 iq. &\l C.)5000 . &) D.)3500 1q. &l A
Q)&cbﬂﬁefg] QFsL AL QFev&liLery QFeL AN
33| Density of iron is
A)10 B.)7.87 C.)8 D.)9 B
33 | @@hoer SILiad
A).10 B.)7.87 C.)8 D.)9 B
34| lron_____ group is periodic table.
AN B.)6 : C.)2 D.)8 D
34 | @by UT@SIWle Geailo uUfleng SICL el 2 aeng).
A1 B.)6 C.)2 D.)8 D
35| Tinisa element,
L A)HNO3 B.)Chemical C.)NaOH D.)HCI B
35 | Cleueneniulh SEILDLONS 2_6rIeng)).
- |A).HNO3 B.)Geudlufuwicd C.)NaOH D.)HCI B
36| The symbol of Tin is
|A)sn B.)HCI C.)HNO3 D.)H2 SO4 A
% | Glewereiug glew @M
A).Sn B.)HCI C.)HNO3 D.)H2 SO4 A

Scanned with CamScanner



¥ - THE RAJAH'S CoLLEGE
L (AUTONDMOUS)
‘. ",,gl,:f' PUDUKKOTTAL - 623 ggy,
' NOV 2019
s, Unit 5
,_ / Questions Correct
, m of tin is .
i )50 . D.)60 A
1
) B. )70 C.)80 D.)60 A
/’e'lh'ng' point of Tin is
§ m -_—
A)325 Degree  B.)231.9 Degree G 200 Degree  D.)300 Degree B
celcius . celcius celcius
G T RN T

3%

4325 D 325 Degree celcius  B.)231.9 Degree celcius C.)200 Degree celcius ~ D.)300 Degree celcius | B
| e ~The boiling point of Tin is

A)zsoo Degree  B.)2700 Degree  C.)2650 Degree  D.)2602 Degree D
celcius celcius celcius
3 ’@Tc‘r’f&ﬂﬁgé\m Qan&Heneo

A).2500 Degree celcius B.)2700 ‘Degree celcius C.)265O Degree celcius D.)2602 Degree celcius | D
70| The atomic weight of Tin is

1 |ays0 'B.)120 © . C)118.69 D.)140 c
70| QeueTeniL& S16T SIsm) 6TenL

A).150 B.)120 ‘ C.)118.69 ‘ D.)140 C
41| Carbon symbol is o [
A)C B)S  C)Xu DTi c
a1 | enjuesies GOUI(h )
A).C B.)S C.)Cu D.)Ti C
42| Atomic number of Carbon is
A)10 B.)6 C.)8 D.)9 B
42 | sijueien e eT6vor
A).10 B.)6 C.)8 D.)9 B
43| Carbon belongsgroup ________ in periodic table.
A)14 B.)10 c)8 D.)7 A
43 | SMjLEH &6UILD eufleng i L 6u6nemiiley CFT@Sl6L 2_6neng).
A).14 B.)10 c)8 D.)7 A
441 Melting point of graphite is
A.)3500 Degree  B.)3700 Degree ~ C.}4000 Degree  D.)3000 Degree A
celcius celcius celeius . celcius

44 | SIpTEMUL19.65 2 (G Hemev

A).3500 Degree celcius  B.)3700 Degree celcius C. )4000 Degree celcius D.)3000 Degree celcius | A
45 Molecular weight of Carbon is

. |A)20u B.)12.0107 u C)7u D)19u
45 | smyuelen CLpeLSIa M) TenL

- |A)20u B.)12.0107 u C)7u D.)19u
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Questions " or
N C)3 D)4 D
DR E D
B)g c)3 D4 D
unpained electrons.
C)s D)10 A
D GEITH TILEL TS & ey
B.)S c)s D.)10 A
¢8| Nicbium formerly known as
|A)Coumbium  B)Sodium C.)Zinc D.)Carbon "
| CRIORLID (e TN SIDPESUUHI DS
 |aQareoidiNunn B)XCsmywith COREIS DS A
28] Niobium symbal is
~ |A)UN B.)Nb C)Na DK 8
® | Comwb el
A)LUN B.)Nb C)Na DK B
50| Atomic number of Niobium is
A)50 B.)41 C.H47 D.)49 B
0 | CHUSEE Sigm aew
A).50 B M1 CH7 D43 B
$1| Atomic mass of pottassiumis
A)38.0883 u B.MX7u C.M9u D.)52u A
51 | QUL ISWS ST Sig Mehm
A).39.0883 u B.)47 u C)49u D.)S2u A
82| What s the atomic number of pottasium
b |ar B.)22 C.)24 D19 D
82 | Wum LSS Ele Sig eI eTeden
%
L A7 B.)22 C.)24 D19 D
Normal pottasium level in body is
- |A)87 mmalc B.)3.6to0 5.2 C.)57 mmolc D.)60 mmolc B
£ mmolc
2 L LoUIe0 2 _erren GumeLrSwg e sqmanl siemey
" |A).67 mmolic B)36to52mmolc  C.)57 mmolc D.)60 mmoVc B
. 3| Pottasium dangerous level in blood is
" |A)5.0mmoliL high B.)8.0 mmolL high C.)10.0 mmolL D.)12.0 mmolL A
i high high
Q35330 ClumL Lt Sledt sieney DI& SIFSID.
iy 6.0 mmolL high B.)8.0 mmolL high C.)10.0 mmolL high D.)12.0 mmolL high A
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55| The formula of pottassium chloride is
A.)ZnCl B.)KCI C.)HCI D.)BaCi2
65 | LlunLLr&wnb GCenmennig e eummunG
A).ZnCl B.)KCI C.)HCI D.)BaCI2
"~ 56| The formula of pottassium sulphate is
A)KCI B.)H2 S04 C.)K2 SO4 D.)HCI C
56 | QUL L&D g60GLL- G 681 eUTLILILIT(Y
A).KCI B.)H2 SO4 C.)K2 804 D.)HCI C
57 | What fertilizer is high in pottassium?
A.)Pottash fertilizer B.)Nitrogen C.)Mixer fertilizer  D.)DAP fertilizer A
fertilizer
57 | CUMLLeQ 61hG 275560 SIFBLONE 2_anengy),
A) QUL L meig B.)6OBL (] 2601 C)eelY 2.JhiGeT  D.)DAP 2_[JlI&6T A
2_TTRIGET 2_[MI&eT
58 ash also rised soil pH.
A)HCI B.)NH3 C.)NaOH D.)Wood D
IS8 FMIDLIED LDETIETHIE0 pH Siemened 2 IS ZIBME]?
' A).HCI B.)NH3 C.)NaOH D)oL D
What is white salt fertilizer?
A)HCI B.)Sodium Nitrate C.)KCI D.)HNO3 B
NaNO3
59 | Cleuenmemen 2_LiL| 2_[JLD ¢T6UTLIG)| 6T6016017
A).HCI B.)G&Mg LD C.)KC D.)HNO3 B
60HL_GL_-NaNO3
60| Ammonium Chloride formula is
A)NH4 Cl B.)KCI C.)HCI D.)NaCl A
160 | SDGLOMETILILD & GaTmeniyiq 601 eumLum(y
3 A).NH4 Cl B.)KCI C.)HCI D.)NaCl A
4 61| Ammonium nitrate formula is
L A.)CaCO3 B.)KNO3 C.)HNO3 D.)NH4 NO3 D
1 61 | sGomaiiwid enbLGrL (LPEVSFam] eumLLIm(y
A).CaCO3 B.)KNO3 C.)HNO3 D.)NH4 NO3 D
62| Ammonium Carbonate formula is
AJHNO3 B.)(NH4)2CO3  C.)KCI D.)HCI B
4 8| sbCoraflub smjuCail cpadeanm)
4| ambiur@
A__|AHNO3 B.)(NH4)2 CO3 C.)KCl D.)HCI B
8 Ammonium Acitate formula is
_|AI2HTNO2  B)HNO3 C.KNO3 D.HCI A
& SIDCHTaMLD SIS CLL eLpeL&HEa M) eumLILLm(h
A AC2H: JH A
A JAC2H7 NO2 B.)HNO3 C.)KNO3 D.)HCI R
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‘ NO- - Questions Correct
sﬂmnium chloride molar mass i —_— Answer
481g/mol  B.)57 g/m
éﬁcmﬁaﬂmm g:mg o C-)_59 g/mol D.)60 g/mol
5| S O3 oo seagy Hien
fj03:491 g/fmol : B)57 gmol C.)59 g/mol D.)60 g/mol
~75 [ Ammonium chioride is used a3 an electrolyte is
A)HNO3 B.)NaOH
ff,g"',;u:' Gmneuﬂmm_@;(:mnmmqs&r ﬂmcglri(él;"mw; g.)Baﬁew
g_ucmnasuu@g,g,u@&]mgﬂ b
ALHNO3 B.)NaOH C.)KOH D.)\D6HT&60LD
66| Ammonium Chloride is
A.)Solid __ B)Liquid C.)Gas D.)Gas-liquid
66 | SiGLomesnD GCemmenn(y
A)SlsuILoLD B.)BijLoLh C.)eumiy D.)eurmy-BijioLh
67 Ammonium chloride density is ‘
A )69 g me-1 B.)1.5274gmc-1 )65 g me-1 - D.)67 g me-1
67 | SiGwrelubD GCammany(y SILT§ G
A).69 g mc-1 B.)1.5274 g mc-1 C.)65 g mc-1 D.)67 g me-1
68| Ammonium chloride boiling point is
A.)390 Degree B.)338 Degree C.)350 Degree D.)370 Degree
___|celcius celcius celcius celcius
68 | SIGCLOTANUD GCmTeny(h-6ir CaTEHene0
A).390 Degree celcius  B.)338 Degree celcius C.)350 Degree celcius  D.)370 Degree celcius
69| Ammonium chloride insoluble in organic solvent
A)Ethyl acetate ~ B.)CH3 OH C.)C6 H6 D.)CC4
69  SiGLraHLD GCamamy( &mpng GHIn GenjLLTe
A)STEE60 IACLL.  B.)CH3 OH C.)C6 HB D.)CC4a A
70| Ammonium naitrate molar mass is -
A.)80.043 g/mol  B.)90 g/mol C.)97 gimol D.)99 g/mol A
70 | SIGLOISNIWILD BLGHL g 61 Ceu&Ea M) Hlshm
A).80.043 g/mol B.)90 g/mol C.)97 g/mal D.)89 g/mol A
71| Ammonium nitrate is a rich source of
A)Nitrogen B.)Oxygen C.)Sulpher D.)Hydrogen A
71 | I0GLraiub apL Gy SISISLONS 2_6TTen cLpeVLD -
_ |AenpLygetr B.)2},& 818601 C.)g6uiy D.)amL yeeir A
72 [ Ammonium nitrate melting point is
-1 A.)80 degree B.)169.6 degree  C.)170 degree D.)175 degree
- lcelcius celcius celcius celcius
12 | sbClomsium MBLGIL 2_ (G Hamen
—_|A).80 degree celcius B.)169.6 degree celcius C.)170 degree celcius  D.)175 degree celcius
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mmomum nitrate poiling point in Answer

iy
hﬁ 709 degree B.)210 degree C.)250 degree

celcius D.)260 degree

v s celcius i
o IDTEALID 6B G T e celcius
lcius  B.)210 i
A 270 degree ce 210 degree celcius C)2 g .
> e S— )250 degree celcius  D.)260 degree celcius
AJHNO3 B.HCI C.)NaOH DJH i
2} i —— .)Hydroscopic
ﬂ‘gmcm““ﬂwm BLGIL 6TaLg, ST oL ILIG)
A).HNOS_ B.)HCI C.)NaOH D.)Biy2_leh &b
~75| Ammonium Carbonate molecular weight in
A.)140 g/mol _B)100g/mol 125 gimol D.)96.09 g/mol
ﬁ'@mcmnm\mm STIGUTCeTL CLPEVSEa M) CTEmL
|A).140 g/mol B.)100 g/mol C.)125 g/mol D.)96.09 g/mol
76| Ammonium Carbonate melting point is
A)58 degree B.)ep degree C.)65 degree D.)70 degree
celcius _ cglcms celcius celcius
76 | 2IDGLOMEITILILD SHGUTCHIL 2 (hGHmev

A).58 degree celcius - B.)B0 degree celcius ~ C.)65 degree celcius D.)70 degree celcius

Ammonia pH value is
A)11.6 B.)13 C.)15 D.)16

SIDGELOTEDTILLIT-60T pH LOGILIL| -
A).11.6 , B.)13 C.)15 D.)16

78

Ammonium Carbonate is
A.)Gas B.)Solid C.)Liquid D.)Gas-Solid

8

SIbCmefid &FGLTGETL
A)eumi B.)\6wurLoL C.)bijLow D.)eumW-&\6TmLoLd

79

Chemical formula of urea is
A)H2 SO4 B.)HCI C.)HNO3 D.)CO(NH2)2

i fTmenen clpeodaam) eumbiun(y =
A)H2 S04 B.)HCI C.)HNO3 D.)CO(NH2)2

80| Urea molar mass is

~ |A)60.6 g/mol B.)65 g/mol C.)70 g/mol D.)75 g/mol
© 80 | wilwmadler epevdaam) blenm
% A).60.6 g/mol B.)65 g/mol C.)70 g/mol D.)75 g/mol
3 Ureais a compound
A.)Biologic B.)Organic C)linorganic  D.)Chemical
81 | Wyl ereTug)
= A2 uflwed B.)&IfILD C.)s6efo D.)Ceudlufiied
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— Questions Correct
is \ Answer
Solid B.)Liquid -
g amug"*%s S :
Seimold 881015
snsityofurears___————— Claimy Dyumu o | A
: -4 g/lem3
TeNeT SIL 553 d D)3 glem3 &
32 glem3 B.)5 g/em3
— - C.M4 g/lem3 } A
ga melting point is Al DSgfcms
QR dcaree oN33degree  C)ta7degree  Dytap degree 3
10 - CIus celcius celcius
Ll alear 2 @ Hemen
150 degree celcius  B)133 degree celcius  C.)137 degree celcius D.)140 degree celcius | B
-:_. dipole moment is
D B)7D C)8D D.)34.56 D D
YILITENI6eT QM@ (Lpsmer S\(mL
A).9D B)7D C)8D D.)34.56 D D
JUPAC name of urea is
A)D B.)HCI C.JHNO3 D.)NaOH A
~ |aminomethanal
86 | Wolumedles 1UPAC QLI etettsur?
AL sufCs B.)HCI C.)HNO3 D.)NaOH A
__ |Qwé 5 eammed
87| Ureaisalsonknownas______
_ |A)camamide  B)HCI C.HNO3 D.)H2 SO4 A
A SEQ|D SO PEEILHEDE]
A aTiusw@ B.)HCI C.)HNO3 D.)H2 SO4 A
88| The formula of thaio urea is -
 |A)H2 S04 B.)CH4 N2S C.)HCI D.JHNO3 B
88 | slwim wjlwimeles Weasam eumuLumE
A).H2 SO4 B.)CH4 N2S C.)HCI D.)HNO3 B
|, 89| Who obtained urea by artifically?
L |A)Thomson B.)Friedrich C.)Dalton D.)Tufe B
: Wohler
wrlwurene Qeumsmawns CQummeneay wWimj?
A)FMbF et B)AUL & GeumCen  C.)LmedL 6ir D.)LmCu B
Urea is known as a
A )Keratolytic B.)HCI C.)HNO3 D.)H2 S04 A
| wglwm QYLD ADPESILHEDE
_ laanCuneneor B.)HCI C.)HNO3 D.)H2 SO4 A
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Ifur  B.)HCI
a)0rganosu C.)H2 S04 D.JHN
T wiyhwur ‘ JHNO3 A
4@"7;@'3 e GEMEUILITGD
aacem su) oo c
ﬁmla of Thioureais____ e b i
A)H2 SO4 B)SC(NH2)2 ¢ )Hel D.JHNO3 B
[ oL WILITEeN APeS 8 m) QMIING
A)H2 S04 B.)SC(NH2)2 C.)HCI
. D.)HNO3 B
~53| The molar mass of Thio urea is )
A)90 g/mol B.)76.12g/mol  C.)86 g/mol D.)88
_ . )88 g/mol B
~55 [ GO WLJILITEI6N QLO6V & M)
ﬁ)f‘.’ g/mol B)76.12g/mol  ~  C.)86 g/mol D.)88 g/mol B
—g4 | Thio urea melting point is
A)182 degree B.)190 degree C.)195 degree D.)197 degree A
celcius celcius celcius celcius

a4 | gbwm I Fiurane 2 HEHlsmeo
A).182 degree celcius B.)190 degree celcius  C.)195 degree celcius  D.)197 degree celcius | A
95| Thio urea exist colour is,

A.)Green B.)Black C.)White D.)Red C
95 | G W,ylwm — him&slev 2 eneng)
A)LEMF B.)&(HLIL C.\eueenen D.)fsulil o
96 | Molecular formula of super phasphate is
A.)Ca H6 08 P2+2 B.)HCI ' C.)H2 SO4 D.)HNOA4 : A
96 | G0 UTeo(LILLg.607 cLpsuGFaml eumiaum(®
A).Ca H6 08 P2+2 B.)HCI C.)H2 SO4 D.)HNO4 A
97 | Molecular weight of super phasphate is
A)125 g/mol B.)236.06 g/mol C.)240 g/mol D.)245 g/mol B
97 | G50 UNGrOGUL Q6N cLp&Eam) 6T6mL =~
A).125 g/mol B.)236.06 g/mol C.)240 g/mol D.)245 g/mol B
98 | Write pottassium chloride formula
A.)HNO3 B.)HCI C.)NaCl D.)KCI D
98 | QUILLTID GGenmeny-6 cLpso&&a Ml eumooum(y
A).HNO3 B.)HCI C.)NaCl D.)KCI D
99 | Write Expansion of DAP
A.)Diammonium  B.)Dichloro C.)Dichloro D.)Dichloro bromin A
_ |phosphate ethlene acetelen : -

99 | DAP - 631 e0IIeuUM&ELD 6T(9SI&?

A) L 2IDGLOmETAILILD B.)mnzg;g‘:smrcgn C.)L @GemmGyT DOL@GemCoT | A
umreroGUL 61881601601 SI6L_1g 60165 yGymiblear | A
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&Wmamion of TSP ? .
100 r B.)Triple hydrogen C.)Triple chloro D.)Triple Acetylene

A)Tﬁp'ea;upe phosphate ethlyne T
ﬁ%ﬂjn&a@mg (PEI5 | ek -

T AR ?m)'éfn]g%m GEaMCyT e HeBsin B e

A UreroGLL”
.——-'—L_’_i
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